Qty

= N O OON =2 N OO0 O N =22 a2 o b a2 DN AN =2 2NN O NDNMNDNO-=-2 ~ 0o -

Short Description

Opto 22 G4-IAC5 AC Input Module

Opto22 OAC24 AC Output Module

SKF SNW-16X2-11/16 Adapter Sleeve

Ingersoll Rand 23635949 Air Compressor Spare Part
Allen Bradley 1771-IFE Analog Input Module

Allen Bradley 195-BA11 Auxiliary Contact

Siemens 49AAFO Auxiliary Contact

Schneider Electric LADN11 Auxiliary Contact
Balemaster 223A0509-04 Baler Part

SKF 3207 Ball Bearing

SKF 5305A-2Z Ball Bearing
SKF 7203-BECBP Ball Bearing
SKF 4212 Ball Bearing

SKF 6021 Ball Bearing

Nachi 6206-2NSE9 Ball Bearing
Rexnord PEU-323 Ball Bearing
SKF 5203 SBKFF Ball Bearing
SKF 5211-2RS Ball Bearing
SKF 6008-2RS Ball bearing
SKF 6309-2Z Ball Bearing

NTN 6914-2Z Ball Bearing

SKF UCF-213 Ball Bearing
SKF UCFL204 Ball Bearing
SKF UCR-209-27 Ball Bearing
Rexnord A 5211 Ball Bearing
Timken 203RR2 Ball Bearing
SKF 1316K Ball Bearing
Timken 203RR2 Ball Bearing
Sealmaster ST-39 Ball Bearing
SKF SYH 5/8 FM Ball Bearing
Browning VPS-120 Ball Bearing
Fafnir ER-19 Ball Bearing

Allen Bradley 1770-XYC Battery
Opto22 ML-2430 Battery

Long Description

Opto 22 G4-IAC5 MODULE - G4-IAC5

Opto22 OAC24 AC OUTPUT - OAC24

SKF SNW-16X2-11/16 ADAPTER - SNW-16X2-11/16
Ingersoll Rand 23635949 VALVE - 23635949

Allen Bradley 1771-IFE MODULE-1771-IFE

Allen Bradley 195-BA11 CONTACT - 195-BA11
Siemens 49AAFO CONTACT - 49AAFO

Schneider Electric LADN11 CONTACT-LADN11
Balemaster 223A0509-04 WEAR BLOCK - 223A0509-04
SKF 3207 AC BALL BEARING - 3207

SKF 5305A-2Z AC BALL BEARING - 5305A-2Z

SKF 7203-BECBP AC BALL BEARING - 7203-BECBP
SKF 4212 BALL BEARING - 4212

SKF 6021 BALL BEARING - 6021

Nachi 6206-2NSE9 BEARING-6206-2NSE9-NACHI
Rexnord PEU-323 BEARING-PEU-323

SKF 5203 SBKFF CONTACT - 5203 SBKFF

SKF 5211-2RS DG BALL BEARING - 5211-2RS
SKF 6008-2RS DG BALL BEARING - 6008-2RS
SKF 6309-2Z DG BALL BEARING - 6309-2Z

NTN 6914-2Z DG BALL BEARING - 6914-2Z

SKF UCF-213 FLANGE BEARING - UCF-213

SKF UCFL204 FLANGE BEARING - UCFL204

SKF UCR-209-27 FLANGE BEARING - UCR-209-27
Rexnord A 5211 INNER RACE BEARING - A 5211
Timken 203RR2 RADIAL BEARING - 203RR2

SKF 1316K RING - 1316K

Timken 203RR2 RING - 203RR2

Sealmaster ST-39 RING - ST-39

SKF SYH 5/8 FM RING - SYH 5/8 FM

Browning VPS-120 RING - VPS-120

Fafnir ER-19 SCREW - ER-19

Allen Bradley 1770-XYC BATTERY - 1770-XYC
Opto22 ML-2430 BATTERY - ML-2430



Qty

RN

N NN W=D 24 A 2 WN D A D O 2N A 2 w b

N =
o

AN NN D o a ao N

Short Description
McMaster-Carr 4648K16 Bearing
Peer Bearing 77R12 Bearing
Rexnord PE-323 Bearing
NTN P210J Bearing

IKO SB-254221 Bearing
McGill CFH-1-1/2SB Bearing
McGill CFH-1-1/8SB Bearing
IKO CR12-VUU Bearing
Timken 38KDD Bearing

MRC 5213-2RS Bearing

SKF 6010-2RS1 Bearing
SKF 6207 2ZJEM C3 Bearing
SKF 6210-RS1 Bearing

SKF 6213.C3 Bearing

SKF 6313-2RS1 Bearing
SKF 6315-2ZJEM Bearing
Timken 6318-2ZJEM Bearing
NTN 6910-2Z Bearing
Timken 9110K Bearing
Timken 9111PP Bearing
Timken FS3KDD Bearing
SKF 6305 2RSJEM Bearing
Dodge F4B-SC-1048 Bearing
Dodge F4BSC115 Bearing
Rexnord FXWG222E Bearing
Fafnir RCJC-2-7/16 Bearing
Sealmaster SF-16 Bearing
Sealmaster SF-32 Bearing
Dodge YCJ 1-11/16 Bearing
McGill MI-18 Bearing

McGill MI-27 Bearing

SKF 476220B-400 Bearing
SKF SK-2073B Bearing
Sealmaster SP-35 Bearing

Long Description

McMaster-Carr 4648K16 BALL BEARING - 4648K16
Peer Bearing 77R12 BALL BEARING - 77R12
Rexnord PE-323 BEARING-PE-323

NTN P210J BOLT - P210J

IKO SB-254221 BUSHING - SB-254221

McGill CFH-1-1/2SB CAM FOLLOWER - CFH-1-1/2SB
McGill CFH-1-1/8SB CAM FOLLOWER - CFH-1-1/8SB
IKO CR12-VUU CAM FOLLOWER - CR12-VUU
Timken 38KDD DG BALL BEARING - 38KDD

MRC 5213-2RS DG BALL BEARING - 5213-2RS

SKF 6010-2RS1 DG BALL BEARING - 6010 2RS1

SKF 6207 2ZJEM C3 DG BALL BEARING - 6207 2ZJEM C3

SKF 6210-RS1 DG BALL BEARING - 6210-RS1

SKF 6213.C3 DG BALL BEARING - 6213.C3

SKF 6313-2RS1 DG BALL BEARING - 6313-2RS1

SKF 6315-2ZJEM DG BALL BEARING - 6315-2ZJEM
Timken 6318-2ZJEM DG BALL BEARING - 6318-2ZJEM
NTN 6910-2Z DG BALL BEARING - 6910-2Z

Timken 9110K DG BALL BEARING - 9110K

Timken 9111PP DG BALL BEARING - 9111PP

Timken FS3KDD DG BALL BEARING - FS3KDD

SKF 6305 2RSJEM DG BALL BEARING-6305 2RSJEM
Dodge F4B-SC-1048 FLANGE BEARING - F4B-SC-1048
Dodge F4BSC115 FLANGE BEARING - F4BSC115
Rexnord FXWG222E FLANGE BEARING - FXWG222E
Fafnir RCJC-2-7/16 FLANGE BEARING - RCJC-2-7/16
Sealmaster SF-16 FLANGE BEARING - SF-16
Sealmaster SF-32 FLANGE BEARING - SF-32

Dodge YCJ 1-11/16 FLANGE BEARING - YCJ 1-11/16
McGill MI-18 INNER RACE BEARING - MI-18

McGill MI-27 INNER RACE BEARING - MI-27

SKF 476220B-400 INSERT BEARING - 476220B-400
SKF SK-2073B INSERT BEARING - SK-2073B
Sealmaster SP-35 INSERT BEARING - SP-35



Qty

- -
= W wN

-— -_—
AN © A a4 a4 a4 a b AN D ORNN=aAN=22NNNNWSNON 2

D
w

Short Description

FAG B-3216 Bearing

Timken 481181 Bearing

Peer Bearing 99502H Bearing
Timken 203KLD Bearing

SKF 23124EX1 W33 Bearing
MRC 5217MFF Bearing

SKF 61924 Bearing

SKF GE-30-ES Bearing
Timken L44642 Bearing
Sealmaster MSC-47 Bearing
Timken RCJ-1-1/2 Bearing
Boston Gear S8709-88 Bearing
SKF SYH 1/2 FM Bearing

SKF 476220-400B Bearing
Nachi L-2193-C Bearing
Sealmaster MFC-40 Bearing
IPTCI Bearings 207 Bearing Insert
NTN AEL206 Bearing Insert
AMI Bearings B2-10 Bearing Insert
Rex BR2 Bearing Insert

SKF UC314 Bearing Insert
Gates 94140750 Belt

Martin 60SDS18H Bushing and Sprocket
Phoenix Contact 1522891 Cable Assembly
Phoenix Contact 1681868 Cable Assembly
Symbol 25-38407-01 Cable Assembly
Bosch RKG4200/005.0 Cable Assembly
Phoenix Contact 1669741 Cable Assembly
Phoenix Contact 1681389 Cable Assembly
McGill CCFE-3/4-SB Cam Follower Bearing
McGill CF-1/2-S Cam Follower Bearing
McGill CF2-SB Cam Follower Bearing
McGill CFH-1-SB Cam Follower Bearing
IKO CR12-VBUU Cam Follower Bearing

Long Description

FAG B-3216 NR BEARING - B-3216

Timken 481181 OIL SEAL - 481181

Peer Bearing 99502H RADIAL BEARING - 99502H
Timken 203KLD RING - 203KLD

SKF 23124EX1 W33 RING - 23124EX1 W33

MRC 5217MFF RING - 5217MFF

SKF 61924 RING - 61924

SKF GE-30-ES RING - GE-30-ES

Timken L44642 RING - L44642

Sealmaster MSC-47 RING - MSC-47

Timken RCJ-1-1/2 RING - RCJ-1-1/2

Boston Gear S8709-88 RING - S8709-88

SKF SYH 1/2 FM RING - SYH 1/2 FM

SKF 476220-400B ROLLER BEARING - 476220-400B
Nachi L-2193-C ROLLER BEARING - L-2193-C
Sealmaster MFC-40 SCREW - MFC-40

IPTCI Bearings 207 INSERT BEARING - 207

NTN AEL206 INSERT BEARING - AEL206

AMI Bearings B2-10 INSERT BEARING - B2-10
Rex BR2 INSERT BEARING - BR2

SKF UC314 INSERT BEARING - UC314

Gates 94140750 BELT - 94140750

Martin 60SDS18H SPROCKET - 60SDS18H
Phoenix Contact 1522891 CABLE - 1522891
Phoenix Contact 1681868 CABLE - 1681868
Symbol 25-38407-01 CABLE - 25-38407-01

Bosch RKG4200/005.0 CABLE - RKG4200005.0
Phoenix Contact 1669741 CORDSET - 1669741
Phoenix Contact 1681389 PIN - 1681389

McGill CCFE-3/4-SB CAM FOLLOWER - CCFE-3/4-SB
McGill CF-1/2-S CAM FOLLOWER - CF-1/2-S
McGill CF2-SB CAM FOLLOWER - CF2-SB

McGill CFH-1-SB CAM FOLLOWER - CFH-1-SB
IKO CR12-VBUU CAM FOLLOWER - CR12-VBUU



Qty

H 00 © >

22

11
19

N O1 W = A a a a a N =2 0 2 A aAa a N -2 N A A a ao w

Short Description

IKO CR20-VBUU Cam Follower Bearing

IKO CR20-VUU Cam Follower Bearing

IKO CR28VUU Cam Follower Bearing

IKO CRH-16-VBUU Cam Follower Bearing
RBC Bearings CRSBE-14 Cam Follower Bearing
McGill CYR-3-1/4S Cam Follower Bearing
RBC Bearings S32LWX Cam Follower Bearing
Reliance 419904-51E Carbon Brush

Reliance 419904-52Z Carbon Brush

Reliance 04-51AB Carbon Brush

Cooper Bussmann FLNR20 Cartridge Fuse
KSE Manufacturing 60BTL21-2012 Chain & Sprocket
Allen Bradley 140M-C2E-B25 Circuit Breaker
Allen Bradley 1492-CB2 Circuit Breaker
Square D FA34040 Circuit Breaker

Schneider Electric GV2-ME203 Circuit Breaker
Schneider Electric GV2P21 Circuit Breaker
Schneider Electric MG24449 Circuit Breaker
GE THQB2130 Circuit Breaker

Schneider Electric FAL34080 Circuit Breaker
Allen Bradley 195-FA11 Contact block

Allen Bradley 1771-OW Contact Output Module
Allen Bradley 195-FA31 Contactor

Schneider Electric 8502-PD2-10E Contactor
Allen Bradley 100-C12J10 Contactor

Allen Bradley 100-C60D10 Contactor

ABB 1SVR730010R0200 Control

Schneider Electric 9001BW72Y Control

Allen Bradley 700-PL200A1 Control Relay
Lovejoy U137R Coupling

Rexnord 126 DBZ-C Coupling

Baldor BC141 DC Drive

SKF 62212-2RS Deep Groove Ball Bearing
SKF 361207-2RSX Deep Groove Ball Bearing

Long Description

IKO CR20-VBUU CAM FOLLOWER - CR20-VBUU

IKO CR20-VUU CAM FOLLOWER - CR20-VUU

IKO CR28VUU CAM FOLLOWER - CR28VUU

IKO CRH-16-VBUU CAM FOLLOWER - CRH-16-VBUU

RBC Bearings CRSBE-14 CAM FOLLOWER - CRSBE-14

McGill CYR-3-1/4S CAM FOLLOWER - CYR-3-1/4S

RBC Bearings S32LWX CAM FOLLOWER - S32LWX

Reliance 419904-51E BRUSH - 419904-51E

Reliance 419904-52Z BRUSH - 419904-52Z

Reliance 04-51AB MOTOR-04-51AB

Cooper Bussmann FLNR20 FUSE - FLNR20

KSE Manufacturing 60BTL21-2012 TAPE - 60BTL21-2012

Allen Bradley 140M-C2E-B25 CIRCUIT BREAKER - 140M-C2E-B25
Allen Bradley 1492-CB2 CIRCUIT BREAKER - 1492-CB2

Square D FA34040 CIRCUIT BREAKER - FA34040

Schneider Electric GV2-ME203 CIRCUIT BREAKER - GV2-ME203
Schneider Electric GV2P21 CIRCUIT BREAKER - GV2P21
Schneider Electric MG24449 CIRCUIT BREAKER - MG24449

GE THQB2130 CIRCUIT BREAKER - THQB2130

Schneider Electric FAL34080 MOLDED CASE CIRCUIT BREAKER 480V 80A
Allen Bradley 195-FA11 CONTACT - 195-FA11

Allen Bradley 1771-OW MODULE - 1771-OW

Allen Bradley 195-FA31 CONTACT-195-FA31

Schneider Electric 8502-PD2-10E CONTACT-8502-PD2-10E

Allen Bradley 100-C12J10 CONTACTOR 12A 24VAC 3P 100-C12J10
Allen Bradley 100-C60D10 CONTACTOR 60A 120VAC 3P 100-C60D10
ABB 1SVR730010R0200 RELAY - 1SVR730010R0200

Schneider Electric 9001BW72Y STATION-9001BW72Y

Allen Bradley 700-PL200A1 RELAY - 700-PL200A1

Lovejoy U137R COUPLING - U137R

Rexnord 126 DBZ-C COUPLING HUB - 126 DBZ-C

Baldor BC141 DRIVE - BC141

SKF 62212-2RS BEARING-62212-2RS

SKF 361207-2RSX CAM FOLLOWER - 361207-2RSX



Qty

RN N
S A A N 2O A A A A a0 WD PN DN A

N
N

N = W N =2 N =2 =2 N B~ DNNDN

Short Description

Timken 6007-2RS Deep Groove Ball Bearing
SKF 6030-2Z Deep Groove Ball Bearing

SKF 6210 RZ Deep Groove Ball Bearing

NTN 6210-2ZJEM/C3 Deep Groove Ball Bearing
SKF 62206-2RS Deep Groove Ball Bearing

SKF 6306-2Z Deep Groove Ball Bearing

SKF 6307-2Z Deep Groove Ball Bearing

Timken 6308-2RS Deep Groove Ball Bearing
Ingersoll Rand 93358-C Diaphragm Pump Part
Honeywell DC120L10001000 Digital Controller
Allen Bradley 1746-1A16 Digital I/O Module
Allen Bradley 1746-1B8 Digital I/O Module
Ferraz Shawmut 1494F-C633 Disconnect Switch
Tsubaki RS24B-1CL Drive Chain

McGill MI-24 Education

Baldor EM3555T Electric Motor

Bussmann FWP-50A22FA Electrical and Power Protection
Allen Bradley 129-106-3 Electrical and Safety Equipment

Wiegmann B121206CH Electrical Box

GE TF136015 Electrical Circuit Breaker

GE 36A164451ABP18 Electrical Component

GE 893A643AA Electrical Component

Baldor BP5000AW14SP Electrical Component
Honeywell 704000D02F200 Electrical Component

Allen Bradley 889R-R4AENM-5 Electrical Component

Valco Melton 030XX625 Electrical Component
Allen Bradley 802T-D Electrical Component

Allen Bradley 140-MN-0160 Electrical Component
GE CR9500B102A2A Electrical Component

Allen Bradley 195-FA20 Electrical Component
Allen Bradley 195-MB22 Electrical Component

Allen Bradley 40440-300-51 Electrical Component

Siemens 49AAFC Electrical Component
Square D 9999D10 Electrical Component

Long Description

Timken 6007-2RS DG BALL BEARING - 6007-2RS

SKF 6030-2Z DG BALL BEARING - 6030-2Z

SKF 6210 RZ DG BALL BEARING - 6210 RZ

NTN 6210-2ZJEM/C3 DG BALL BEARING - 6210-2ZJEM/C3
SKF 62206-2RS DG BALL BEARING - 62206-2RS

SKF 6306-2Z DG BALL BEARING - 6306-2Z

SKF 6307-2Z DG BALL BEARING - 6307-2Z

Timken 6308-2RS DG BALL BEARING - 6308-2RS

Ingersoll Rand 93358-C 93358-C 2" HYTREL BALL - 93358-C
Honeywell DC120L10001000 CONTROLLER-DC120L10001000
Allen Bradley 1746-IA16 MODULE - 1746-1A16

Allen Bradley 1746-IB8 MODULE - 1746-IB8

Ferraz Shawmut 1494F-C633 FUSE - 1494F-C633

Tsubaki RS24B-1CL LINK - RS24B-1CL

McGill MI-24 INNER RACE BEARING - MI-24

Baldor EM3555T AC MOTOR - EM3555T

Bussmann FWP-50A22FA FUSE - FWP-50A22Fa

Allen Bradley 129-106-3 SWITCH - 129-106-3

Wiegmann B121206CH JIC BOX-B121206CH

GE TF136015 CIRCUIT BREAKER - TF136015

GE 36A164451ABP18 BRUSH - 36A164451ABP18

GE 893A643AA BRUSH - 893A643AA

Baldor BP5000AW14SP BRUSH - BP5000AW14SP
Honeywell 704000D02F200 CABLE - 704000D02F200

Allen Bradley 889R-R4AENM-5 CABLE - 889R-R4AENM-5
Valco Melton 030XX625 CABLE ON ADHESIVE M12 5PIN 4M
Allen Bradley 802T-D CIRCUIT - 802T-D

Allen Bradley 140-MN-0160 CIRCUIT BREAKER - 140-MN-0160
GE CR9500B102A2A COIL - CR9500B102A2A

Allen Bradley 195-FA20 CONTACT - 195-FA20

Allen Bradley 195-MB22 CONTACT - 195-MB22

Allen Bradley 40440-300-51 CONTACT - 40440-300-51
Siemens 49AAFC CONTACT - 49AAFC

Square D 9999D10 CONTACT - 9999D10



Qty

— N
N NN o B 2N =2 N O 0 0o N =2 N =2 wWwWiN

N =
~

N
= AN WO N2 w2 2NN

Short Description

Telemecanique LA1KN20 Electrical Component
Schneider Electric LC1-D50F7 Electrical Component
Telemecanique LC2D09G7 Electrical Component
Schneider Electric LC2K1210F7 Electrical Component
Schneider Electric LP1D1810BD Electrical Component
Eaton XTCE015B10A Electrical Component

Allen Bradley 140M-C-AFA11 Electrical Component
Allen Bradley 140M-C-ASA11 Electrical Component
Siemens 52BAJ Electrical Component

Siemens 52BJK Electrical Component

Siemens 64BA Electrical Component

Allen Bradley 800E-3X10 Electrical Component

Allen Bradley 800T-XA Electrical Component

Square D 9001-KA1 Electrical Component

Square D 9001KA2 Electrical Component
Telemecanique 9001KAS5 Electrical Component
Schneider Electric ZB2-BE102 Electrical Component
Schneider Electric ZBE101 Electrical Component
Schneider Electric ZBE102 Electrical Component
Allen Bradley 195-FA40 Electrical Component
Schneider Electric LC1D40AG7 Electrical Component
Turck WK4T-4-PSW 3M Electrical Component
Schneider Electric VW3A66711 Electrical Component
Littelfuse JLLS 30 Electrical Component

Allen Bradley W72 Electrical Component

Long Description

Telemecanique LA1TKN20 CONTACT - LA1KN20

Schneider Electric LC1-D50F7 CONTACT - LC1-D50F7
Telemecanique LC2D09G7 CONTACT - LC2D09G7

Schneider Electric LC2K1210F7 CONTACT - LC2K1210F7
Schneider Electric LP1D1810BD CONTACT - LP1D1810BD
Eaton XTCE015B10A CONTACT - XTCE015B10A

Allen Bradley 140M-C-AFA11 CONTACT BLOCK - 140M-C-AFA11
Allen Bradley 140M-C-ASA11 CONTACT BLOCK - 140M-C-ASA11
Siemens 52BAJ CONTACT BLOCK - 52BAJ

Siemens 52BJK CONTACT BLOCK - 52BJK

Siemens 64BA CONTACT BLOCK - 64BA

Allen Bradley 800E-3X10 CONTACT BLOCK - 800E-3X10
Allen Bradley 800T-XA CONTACT BLOCK - 800T-XA

Square D 9001-KA1 CONTACT BLOCK - 9001-KA1

Square D 9001KA2 CONTACT BLOCK - 9001KA2
Telemecanique 9001KA5 CONTACT BLOCK - 9001KA5
Schneider Electric ZB2-BE102 CONTACT BLOCK - ZB2-BE102
Schneider Electric ZBE101 CONTACT BLOCK - ZBE101
Schneider Electric ZBE102 CONTACT BLOCK - ZBE102

Allen Bradley 195-FA40 CONTACT-195-FA40

Schneider Electric LC1D40AG7 CONTACTOR 40A 120VAC 3P
Turck WK4T-4-PSW 3M CORDSET - WK4T-4-PSW 3M
Schneider Electric VW3A66711 DRIVE - VW3A66711

Littelfuse JLLS 30 FUSE - JLLS 30

Allen Bradley W72 HEATER - W72

Banner Engineering SM51EB - 18585 Electrical Componen Banner Engineering SM51EB - 18585 LED - SM51EB - 18585

Allen Bradley 800F-AML2 Electrical Component
Allen Bradley 800E-3DO0 Electrical Component
Allen Bradley 800F-DOC Electrical Component
Reliance 419904-51AD Electrical Component
Schneider Electric 73250 Electrical Component
Allen Bradley 800T-B6D2 Electrical Component
Allen Bradley 800T-N246R Electrical Component
Allen Bradley 800T-P16 Electrical Component

Allen Bradley 800F-AML2 LOCKING COVER FOR MUSHROOM OPERATOR

Allen Bradley 800E-3D0 MODULE - 800E-3D0

Allen Bradley 800F-DOC MODULE - 800F-DOC

Reliance 419904-51AD MOTOR - 419904-51AD
Schneider Electric 73250 PILOT LIGHT - 73250

Allen Bradley 800T-B6D2 PUSH BUTTON - 800T-B6D2
Allen Bradley 800T-N246R PUSH BUTTON - 800T-N246R
Allen Bradley 800T-P16 PUSH BUTTON - 800T-P16



Qty

A N N =2 a2 a2 N A WA A A A AN DN a0 W W

©
»

13, =N PN NS

Short Description

Allen Bradley 800T-PB16 Electrical Component
Allen Bradley 800T-QA10A Electrical Component
Allen Bradley 800T-QA24A Electrical Component
Allen Bradley 800FM-LF3 Electrical Component
Allen Bradley 193-BSC10 Electrical Component
Siemens 3RF2120-2AA02 Electrical Component
Allen Bradley 700-HLS2Z24 Electrical component
Square D B1.45 Electrical Component

Square D B11.5 Electrical Component

Eaton BA43A Electrical Component

Schneider Electric XPSAK351144 Electrical Component

Allen Bradley 42SRR-6006 Electrical Component
Siemens 3RV1011-1FA10 Electrical Component
Allen Bradley 509-TOD Electrical Component

Allen Bradley 440N-Z21SS2A Electrical Component

Siemens 52SA2BDB Electrical Component

Allen Bradley 800FM-KM2128R Electrical Component

Allen Bradley 800MR-HX2B Electrical Component
Allen Bradley 800T-H3112A Electrical Component
Allen Bradley 802T-R3TD Electrical Component
Allen Bradley 802X-D4 Electrical Component
Honeywell BAF1-2RQN8-LH Electrical Component
Honeywell BZ-R814-A2 Electrical Component
Schneider Electric Z-BW06 Electrical Component
Telemecanique ZC2-JC1 Electrical Component
ABB P601A100-2 Electrical Component

Allen Bradley 1492-F Electrical Component

Allen Bradley 800T-PS16 Electrical Component
Bosch Rexroth R900057453 Electrical Connector
Phoenix Contact 3240022 Electrical connector
Allen Bradley 100-M09NZ31 Electrical Contactor
GE CR304XC10B Electrical Equipment & Supply
Allen Bradley 1401-N55-A Electrical Fuse

Mersen A70Q100-4 Electrical Fuse

Long Description

Allen Bradley 800T-PB16 PUSH BUTTON - 800T-PB16
Allen Bradley 800T-QA10A PUSH BUTTON - 800T-QA10A
Allen Bradley 800T-QA24A PUSH BUTTON - 800T-QA24A
Allen Bradley 800FM-LF3 PUSH BUTTON-800FM-LF3
Allen Bradley 193-BSC10 RELAY - 193-BSC10

Siemens 3RF2120-2AA02 RELAY - 3RF2120-2AA02
Allen Bradley 700-HLS2Z724 RELAY - 700-HLS2724
Square D B1.45 RELAY - B1.45

Square D B11.5 RELAY - B11.5

Eaton BA43A RELAY - BA43A

Schneider Electric XPSAK351144 RELAY - XPSAK351144
Allen Bradley 42SRR-6006 SENSOR - 42SRR-6006
Siemens 3RV1011-1FA10 STARTER - 3RV1011-1FA10
Allen Bradley 509-TOD STARTER - 509-TOD

Allen Bradley 440N-Z21SS2A SWITCH - 440N-Z21SS2A
Siemens 52SA2BDB SWITCH - 52SA2BDB

Allen Bradley 800FM-KM2128R SWITCH - 800FM-KM2128R
Allen Bradley 800MR-HX2B SWITCH - 800MR-HX2B
Allen Bradley 800T-H3112A SWITCH - 800T-H3112A
Allen Bradley 802T-R3TD SWITCH - 802T-R3TD

Allen Bradley 802X-D4 SWITCH - 802X-D4

Honeywell BAF1-2RQN8-LH SWITCH - BAF1-2RQN8-LH
Honeywell BZ-R814-A2 SWITCH - BZ-R814-A2
Schneider Electric Z-BW06 SWITCH - Z-BW06
Telemecanique ZC2-JC1 SWITCH - ZC2-JC1

ABB P601A100-2 TACHOMETER - P601A100-2

Allen Bradley 1492-F TERMINAL BLOCK - 1492-F

Allen Bradley 800T-PS16 TRANSFORMER - 800T-PS16
Bosch Rexroth R900057453 CONNECTOR - R900057453
Phoenix Contact 3240022 ROD END - 3240022

Allen Bradley 100-M09NZ31 CONTACT 24VDC 9A W/ 1NO 3 POLE

GE CR304XC10B CONTACT BLOCK - CR304XC10B
Allen Bradley 1401-N55-A FUSE - 1401-N55-A
Mersen A70Q100-4 FUSE - A70Q100-4



Qty

O N A A A A M m A Aa WA A A O N O 0, O A NN 0NN W

Short Description

Mersen A70QS175-4K Electrical Fuse

Ferraz Shawmut A70QS200-4K Electrical Fuse
Mersen ATQR3/4 Electrical Fuse
Telemecanique J20C20 Electrical Relay
MARQUIP 6410770 Electrical Splicer Part

Allen Bradley 194R-NJ060P3 Electrical Switch
McMaster-Carr 51445K813 Electrical Switch
Furnas 54LA6-2 Electrical Switch

Allen Bradley 800FM-KM2106R Electrical Switch
Square D 9001KS11K1E13 Electrical Switch Component
Allen Bradley 1492-CE Electrical Terminal Block
Amprobe PK-0110 Electrical Test Kit

Allen Bradley 700-HF32Z24-4 Electromechanical Relay
Honeywell DT-2R-A7 Electromechanical Relay
Reliance 0-58724-70A Electronic

Marquip 9905506 Electronic

Siemens 6ES7 351-1AH01-0AEQ Electronic
Keyence OP-73864 Electronic

VALCO CINCINNATI 280XX191 Electronic
BRAD HARRISON 40902 Electronic

Balluff, Logitech, Lenovo BCC050Y Electronic
Siemens 64BB Electronic

Allen Bradley 6008-LTV Electronic

KB Electronics KBMM-225D Electronic

GE Fanuc IC655MDL512B Electronic

VALCO CINCINNATI 151XX366 Electronic
Allen Bradley 1762-1Q16 Electronic

Allen Bradley 1771-1GD Electronic

Allen Bradley 1771-IGD Electronic

Siemens 505-4732 Electronic

Siemens 505-4832 Electronic

Siemens 6ES7-223-1BL22-0XA0 Electronic
Crydom DR-OAC Electronic

Banner Engineering LM3 - 26665 Electronic

Long Description

Mersen A70QS175-4K FUSE - A70QS175-4K

Ferraz Shawmut A70QS200-4K FUSE - A70QS200-4K
Mersen ATQR3/4 FUSE - ATQR3/4

Telemecanique J20C20 RELAY - J20C20

MARQUIP 6410770 ENCODER - 6410770

Allen Bradley 194R-NJ060P3 FUSE - 194R-NJ060P3
McMaster-Carr 51445K813 SWITCH - 51445K813

Furnas 54LA6-2 SWITCH - 54LA6-2

Allen Bradley 800FM-KM2106R SWITCH - 800FM-KM2106R
Square D 9001KS11K1E13 SWITCH - 9001KS11K1E13
Allen Bradley 1492-CE TERMINAL BLOCK - 1492-CE
Amprobe PK-0110 SWITCH-PK-0110

Allen Bradley 700-HF32Z24-4 CONTACT - 700-HF32Z224-4
Honeywell DT-2R-A7 SWITCH - DT-2R-A7

Reliance 0-58724-70A BOARD - 0-58724-70A

Marquip 9905506 BOARD - 9905506

Siemens 6ES7 351-1AH01-0AEQ CARD - 6ES7 351-1AH01-0AEOQ
Keyence OP-73864 CONECTOR CABLE - OP-73864
VALCO CINCINNATI 280XX191 CONNECTOR - 280XX191
BRAD HARRISON 40902 CONNECTOR - 40902

Balluff, Logitech, Lenovo BCC050Y CONNECTOR - BCC050Y
Siemens 64BB CONTACT BLOCK - 64BB

Allen Bradley 6008-LTV CONTROLLER - 6008-LTV

KB Electronics KBMM-225D CONTROLLER - KBMM-225D
GE Fanuc IC655MDL512B DC INPUT - IC655MDL512B
VALCO CINCINNATI 151XX366 DRIVER PC BOARD - 151XX366
Allen Bradley 1762-1Q16 MODULE - 1762-1Q16

Allen Bradley 1771-IGD MODULE - 1771-1GD

Allen Bradley 1771-IGD MODULE - 1771-IGD

Siemens 505-4732 MODULE - 505-4732

Siemens 505-4832 MODULE - 505-4832

Siemens 6ES7-223-1BL22-0XA0 MODULE - 6ES7-223-1BL22-0XA0

Crydom DR-OAC MODULE - DR-OAC
Banner Engineering LM3 - 26665 MODULE - LM3 - 26665



Qty

RN

-
O = 2 A0 2 A A WN R, OaODNPARWwWODN 2N, s

w
B

W =2 N O

Short Description

Crydom M254035V Electronic

Opto22 PB4 Electronic

Symbol 50-14000-054 Electronic

Omron S82J-0224 Electronic

Allen Bradley 700-HF32Z24 Electronic

IDEC RY425-U Electronic

Allen Bradley 1771-WA Electronic

Allen Bradley 42GRP-9043-QD Electronic

Banner Engineering 55441 Electronic

GE 55990 Electronic

Banner Engineering T18SN6RQ - 33421 Electronic
Schneider Electric 9007 AW16-9627 electronic

TAIYO AX115CE Electronic

Omron H5S-FB Electronic

Allen Bradley 1746-C9 Electronic Controller

Reliance 701819-14AB Electronic/Component

Allen Bradley 1771-IBD Electronic/Industrial Automation
Allen Bradley 1746-1A8 Electronic/Industrial Automation

Long Description

Crydom M254035V MODULE - M254035V

Opto22 PB4 MODULE - PB4

Symbol 50-14000-054 POWER SUPPLY - 50-14000-054

Omron S82J-0224 POWER SUPPLY - S82J-0224

Allen Bradley 700-HF 32224 RELAY - 700-HF32724

IDEC RY425-U RELAY - RY425-U

Allen Bradley 1771-WA RING - 1771-WA

Allen Bradley 42GRP-9043-QD SENSOR - 42GRP-9043-QD
Banner Engineering 55441 SENSOR - 55441

GE 55990 SENSOR - 55990

Banner Engineering T18SN6RQ - 33421 SENSOR - T18SN6RQ - 33421
Schneider Electric 9007 AW16-9627 SWITCH - 9007 AW16-9627
TAIYO AX115CE SWITCH - AX115CE

Omron H5S-FB SWITCH - H5S-FB

Allen Bradley 1746-C9 CABLE - 1746-C9

Reliance 701819-14AB MODULE - 701819-14AB

Allen Bradley 1771-IBD INPUT MODULE - 1771-1BD PLC 5 DC
Allen Bradley 1746-I1A8 INPUT MODULE 120VAC 8 POINT SLC500

Banner Engineering SM51RB - 18586 Electronic/Industrial / Banner Engineering SM51RB - 18586 LED - SM51RB - 18586

Potter & Brumfield KRP5A Electronic/Relay
Schneider Electric LR2-D1308 Electronics
Schneider Electric LR2-D1310 Electronics
Allen Bradley 800T-XD1 Equipment
McMaster-Carr 1976K98 Fan

Dayton 4YD87A Fan Guard

Donaldson P167832 Filter

SMC KQLO07-358S Fit

SMC KQLO07-00 Fitting

Fireye EUV1 Flame detection and control system
Dodge SC-210 Flange

Rexnord FB22431H Flange Bearing

Dodge 124050 Flange Bearing

Dodge 124087 Flange Bearing

Dodge 124217 Flange Bearing

Potter & Brumfield KRP5A RELAY - KRP5A
Schneider Electric LR2-D1308 RELAY - LR2-D1308
Schneider Electric LR2-D1310 RELAY - LR2-D1310
Allen Bradley 800T-XD1 CONTACT BLOCK - 800T-XD1
McMaster-Carr 1976K98 COOLING FAN - 1976K98
Dayton 4YD87A AXIAL FAN - 4YD87A

Donaldson P167832 OIL FILTER - P167832

SMC KQLO07-35S LED - KQL07-35S

SMC KQLO7-00 FITTING - KQL07-00

Fireye EUV1 MODULE - EUV1

Dodge SC-210 FLANGE BEARING - SC-210
Rexnord FB22431H BOLT - FB22431H

Dodge 124050 FLANGE BEARING - 124050
Dodge 124087 FLANGE BEARING - 124087
Dodge 124217 FLANGE BEARING - 124217



Qty Short Description

SKF F-316 Flange Bearing

McGill F2-07 Flange Bearing

SKF F208 Flange Bearing

Hub City FB110 Flange Bearing

Browning FB250-2-15-16 Flange Bearing
Timken GVFD-1-3/8 Flange Bearing
Timken GVFTD-5/8 Flange Bearing
Sealmaster LFT-10-5/8 Flange Bearing
Timken RCJ-1-3/8 Flange Bearing
Sealmaster RFB-203 Flange Bearing
Dodge SCM4 Flange Bearing

Sealmaster SF-22 Flange Bearing

IPTCI Bearings UCF-206-20 Flange Bearing
Asahi UCFK206 Flange Bearing

AMI Bearings UCFT201-8 Flange Bearing
Browning VF4S-226 Flange Bearing

INA PCJTY25-N Flange Bearing

AMI Bearings UCFB206-20 Flange bracket
Martin 50B17 Furniture

Littelfuse CCMRO001 Fuse

Littelfuse FLM1 Fuse

Cooper Bussmann FWH-125B Fuse

Long Description

SKF F-316 FLANGE BEARING - F-316

McGill F2-07 FLANGE BEARING - F2-07

SKF F208 FLANGE BEARING - F208

Hub City FB110 FLANGE BEARING - FB110

Browning FB250-2-15-16 FLANGE BEARING - FB250-2-15-16
Timken GVFD-1-3/8 FLANGE BEARING - GVFD-1-3/8

Timken GVFTD-5/8 FLANGE BEARING - GVFTD-5/8
Sealmaster LFT-10-5/8 FLANGE BEARING - LFT-10-5/8
Timken RCJ-1-3/8 FLANGE BEARING - RCJ-1-3/8
Sealmaster RFB-203 FLANGE BEARING - RFB-203

Dodge SCM4 FLANGE BEARING - SCM4

Sealmaster SF-22 FLANGE BEARING - SF-22

IPTCI Bearings UCF-206-20 FLANGE BEARING - UCF-206-20
Asahi UCFK206 FLANGE BEARING - UCFK206

AMI Bearings UCFT201-8 FLANGE BEARING - UCFT201-8
Browning VF4S-226 FLANGE BEARING - VF4S-226

INA PCJTY25-N FLANGE BEARING 25MM - PCJTY25-N

AMI Bearings UCFB206-20 SCREW - UCFB206-20

Martin 50B17 RING - 50B17

Littelfuse CCMR001 FUSE - CCMR001

Littelfuse FLM1 FUSE - FLM1

Cooper Bussmann FWH-125B FUSE - FWH-125B

Littelfuse L70S 175 Fuse Littelfuse L70S 175 FUSE - L70S 175

Eaton TCF90 Fuse Eaton TCF90 FUSE - TCF90

SEW Eurodrive DRE132M4BE11HR/FG/TF/ES7C Gearmot SEW Eurodrive DRE132M4BE11HR/FG/TF/ES7C AC MOTOR - DRE132M4BE11HR/FG/TF/ES7C
Xycom 677XX002 Glue Dispensing Part Xycom 677XX002 GLUE NOZZLE - 677XX002

Valco Melton 786XX001 Glue Regulator Valco Melton 786XX001 GAUGE - 786XX001

McMaster-Carr 5360K23 Hardware McMaster-Carr 5360K23 COUPLING - 5360K23

N = O =2 2 a2 W =2 a2 a2 aDN OO W AamMNnN-=2N=2N=_2DNON =2 2 ONDNNMDNDO A A~ W

Allen Bradley W32 Heater Element
Allen Bradley W38 Heater Element
Allen Bradley W40 Heater Element
Allen Bradley W52 Heater Element
Allen Bradley W56 Heater Element
Allen Bradley W63 Heater Element

Allen Bradley W32 HEATER - W32
Allen Bradley W38 HEATER - W38
Allen Bradley W40 HEATER - W40
Allen Bradley W52 HEATER - W52
Allen Bradley W56 HEATER - W56
Allen Bradley W63 HEATER - W63



Qty

W 2 Oh W WA AN A A A WWa AW s NDA AN WO

N
w

= =2 0 = N O

Short Description

Square D B1.88 Heater Element

Square D CC94.0 Heater Element

Vulcan RE12-1333C Heating Element
Siemens 505-7002 High Speed Counter/Encoder
Eaton 170M3694 High Speed Fuse

Parker ABN0029D1K Hydraulic Accumulator
Donaldson P165876 Hydraulic Filter
Danfoss 101-1199-009 Hydraulic Motor
Parker RK2HLTS201 Hydraulic Seal

Eaton E51SAL Inductive Proximity Sensor

Long Description

Square D B1.88 RELAY - B1.88

Square D CC94.0 RELAY - CC94.0

Vulcan RE12-1333C HEATER - RE12-1333C
Siemens 505-7002 COUNTER - 505-7002

Eaton 170M3694 FUSE - 170M3694

Parker ASN0029D1K ACCUMULATOR - A3N0029D1K
Donaldson P165876 OIL FILTER - P165876

Danfoss 101-1199-009 HYDRAULIC MOTOR - 101-1199-009
Parker RK2HLTS201 SEAL KIT - RK2HLTS201

Eaton E51SAL SENSOR - E51SAL

Banner Engineering SM31EL - 25724 Inductive Proximity S Banner Engineering SM31EL - 25724 SENSOR - SM31EL - 25724
Omron E2A-M18KS08-WP-B1 2M Inductive Proximity Sens Omron E2A-M18KS08-WP-B1 2M SWITCH - E2A-M18KS08-WP-B1 2M

Turck BI10-G30-AP6X-B1141 Inductive Sensor

Turck BI20-CP40-VN4X2 / M1579221 Inductive Sensor
Turck NI40U-CP40-VN4X2 / M1540611 Inductive Sensor

Valco Melton 030XX595 Industrial Automation
Telemecanique XPS-AP3440 Industrial Automation
Allen Bradley 1785-KE Industrial Automation
Siemens 46PA33A01 Industrial Automation

Omron E3JM-R4M4-G Industrial Automation
Telemecanique ZC2-JE04H5 Industrial Automation
Gates 9207-0005 - 560-8MGT-20 Industrial Belt
Allen Bradley 800MR-QA24GA Industrial Control
Allen Bradley 1485P-P1R4-DR4 Industrial Control
Nordson 593XX366 Industrial Hose

Aventics 0822241001 Industrial Pneumatic Valve
Martin 60BB13H 5/8 Industrial Power Transmission
Martin 50BTB13H Industrial Power Transmission
Martin 60B22 Industrial Power Transmission

Martin 60BS12-1-1/4 Industrial Power Transmission
Martin D50P15H Industrial Power Transmission
Browning DS50H17 Industrial Power Transmission
GE CR304XC11B Industrial Push Button Switch
Eaton 38151120 Industrial Rotary Encoder

Turck BI10-G30-AP6X-B1141 SWITCH - BI10-G30-AP6X-B1141

Turck BI20-CP40-VN4X2 / M1579221 SWITCH - BI20-CP40-VN4X2 / M1579221
Turck NI40U-CP40-VN4X2 / M1540611 SWITCH - NI40U-CP40-VN4X2 / M1540611
Valco Melton 030XX595 CABLE ON ADHESIVE - 030XX595

Telemecanique XPS-AP3440 DISPLAY - XPS-AP3440

Allen Bradley 1785-KE MODULE - 1785-KE

Siemens 46PA33A01 RELAY - 46PA33A01

Omron E3JM-R4M4-G SENSOR - E3JM-R4M4-G

Telemecanique ZC2-JEO4H5 SWITCH - ZC2-JE04H5

Gates 9207-0005 - 560-8MGT-20 BELT - 9207-0005 - 560-8MGT-20

Allen Bradley 800MR-QA24GA PUSH BUTTON - 800MR-QA24GA

Allen Bradley 1485P-P1R4-DR4 SPLITTER DC MICRO STYLE - 1485P-P1R4-DR4
Nordson 593XX366 FILTER - 593XX366

Aventics 0822241001 AIR CYLINDER - 0822241001

Martin 60BB13H 5/8 BALL BEARING - 60BB13H 5/8

Martin 50BTB13H SPROCKET - 50BTB13H

Martin 60B22 SPROCKET - 60B22

Martin 60BS12-1-1/4 SPROCKET - 60BS12-1-1/4

Martin D50P15H SPROCKET - D50P15H

Browning DS50H17 SPROCKET - DS50H17

GE CR304XC11B CONTACT BLOCK - CR304XC11B

Eaton 38151120 ENCODER - 38151120



Qty

A NN WNNOWS A AN AN WS A4 0 a2 BN WA N A W 24 a a N 2 o

Short Description

CR CR37525 Industrial Seal

Banner Engineering 2PBR - 25535 Industrial Sensor
Allen Bradley 872C-A15N30-A2 Industrial Sensor
Parker 8M-Q8CY-SSP Instrumentation Coupling
Parker 8M-Q8VY-SS Instrumentation Coupling
Allen Bradley 440N-Z21SS2H Interlock Switch
Martin MLO70 Jaw Coupling Hub

Schneider Electric DL1-BDG6 LED Bulb
Siemens 54LA1-2 Limit Switch

Allen Bradley 802T-AT Limit Switch

Square D 9007C62A2 Limit Switch

Honeywell 914CE16-6 Limit Switch

Honeywell 914CE16-9 Limit Switch

Eaton ATO-11-1-I Limit Switch

Honeywell BZE6-2RQ8 Limit Switch

Honeywell BZE6-2RQ9 Limit Switch

Eaton E50DR1 Limit Switch

Honeywell LSC3K Limit Switch

Schneider Electric XCK-P591H7 Limit switch
Allen Bradley Z-16065 Limit Switch
Telemecanique ZC2-JEB5 Limit switch

THK HSR45 Linear Motion Guide

THK NSR30TBC2UU+600L Linear Motion Guide
THK SSR15-XW Linear Motion Guide

Sola SLS-12-017T Linear Power Supply

SKF AN 16 Lock nut and locking device

SKF KM-13 Lock nut and locking device

SKF KM-16 Lock nut and locking device

SKF KM-24 Lock nut and locking device

SKF N-11 Lock nut and locking device

SKF MB-13 Lock nut and locking device

SKF MB-16 Lock nut and locking device

SKF MB-4 Lock nut and locking device

SKF W-11 Locknut and locking device

Long Description
CR CR37525 OIL SEAL - CR37525

Banner Engineering 2PBR - 25535 2PBR POWER BLOCK - 2PBR - 25535

Allen Bradley 872C-A15N30-A2 SENSOR - 872C-A15N30-A2
Parker 8M-Q8CY-SSP COUPLING - 8M-Q8CY-SSP
Parker 8M-Q8VY-SS COUPLING - 8M-Q8VY-SS

Allen Bradley 440N-Z21SS2H SWITCH - 440N-Z21SS2H
Martin MLO70 JAW COUPLING - MLO70

Schneider Electric DL1-BDG6 LED - DL1-BDG6
Siemens 54LA1-2 SWITCH - 54LA1-2

Allen Bradley 802T-AT SWITCH - 802T-AT

Square D 9007C62A2 SWITCH - 9007C62A2

Honeywell 914CE16-6 SWITCH - 914CE16-6

Honeywell 914CE16-9 SWITCH - 914CE16-9

Eaton ATO-11-1-1 SWITCH - ATO-11-1-|

Honeywell BZE6-2RQ8 SWITCH - BZE6-2RQ8
Honeywell BZE6-2RQ9 SWITCH - BZE6-2RQ9

Eaton E50DR1 SWITCH - E50DR1

Honeywell LSC3K SWITCH - LSC3K

Schneider Electric XCK-P591H7 SWITCH - XCK-P591H7
Allen Bradley Z-16065 SWITCH - Z-16065
Telemecanique ZC2-JE65 SWITCH - ZC2-JE65

THK HSR45 LINEAR BEARING - HSR45

THK NSR30TBC2UU+600L LINEAR BEARING - NSR30TBC2UU+600L
THK SSR15-XW LINEAR BEARING - SSR15-XW

Sola SLS-12-017T POWER SUPPLY - SLS-12-017T
SKF AN 16 NUT - AN 16

SKF KM-13 NUT - KM-13

SKF KM-16 NUT - KM-16

SKF KM-24 NUT - KM-24

SKF N-11 NUT - N-11

SKF MB-13 WASHER - MB-13

SKF MB-16 WASHER - MB-16

SKF MB-4 WASHER - MB-4

SKF W-11 WASHER - W 11



Qty Short Description
SKF W-36 Locknut and locking device SKF W-36 WASHER - W-36

Wilkerson L28-03-KL0O Lubricator Wilkerson L28-03-KL00 LUBRICATOR - L28-03-KL00

Browning 50T45L26 Mechanical Clutch and Torque Overloz Browning 50T45L26 SPROCKET - 50T45L26

Martin TC12144-20 Mechanical Gear Martin TC12144-20 SPUR GEAR - TC12144-20

SMC AFM40-F04 Mist separator SMC AFM40-F04 FILTER - AFM40-F04

WEG W21 Motor WEG W21 HEATER - W21

Siemens 3RV13424DC10 Motor Starter Siemens 3RV13424DC10 CIRCUIT BREAKER - 3RV13424DC10
Siemens 3RV1011-1AA10 Motor Starter Siemens 3RV1011-1AA10 STARTER - 3RV1011-1AA10

Siemens 3VU1300-1MF00 Motor Starter Siemens 3VU1300-1MF00 STARTER - 3VU1300-1MFO00

Long Description

O NN WWHBROODNMNM®WBAEND N2 2N o g o ©

- N
NN

Square D 9999SP2R Motor Starter

Siemens MSP10G Motor Starter

Sealmaster MFC-35T Mounted Ball Bearing
Browning VF4E-223-1-7/16 Mounted Ball Bearing
Rexnord TU-220 1-15/16 Mounted Ball Bearing
Lily Bearing UCST208-24 Mounted Ball Bearing
Sealmaster 700193 Mounted Ball Bearing

Allen Bradley 77135-166-51 Mounting Kit

Allen Bradley 129-130 Mounting Kit

Dynacraft 101187 Qil Seal

SKF 16019015 Qil Seal

Timken 416404 Oil Seal

CR 45X68X12 Oil seal

Timken 470380 Oil Seal

Timken 473211 Oil Seal

Timken 473225 Oil Seal

Timken 473231 Oil Seal

4 Timken 5877 Qil Seal

SKF 60X90X10 Oil seal

6 SKF CR13797 Oil Seal

SKF CR18581 Oil Seal
SKF CR19832 Oil Seal
SKF CR32396 Oil Seal
SKF CR33700 Oil seal

4 SKF CR39933 Oil Seal

Square D 9999SP2R STARTER - 9999SP2R
Siemens MSP10G STARTER - MSP10G
Sealmaster MFC-35T BOLT - MFC-35T

Browning VF4E-223-1-7/16 FLANGE BEARING - VF4E-223-1-7/16

Rexnord TU-220 1-15/16 RING - TU-220 1-15/16
Lily Bearing UCST208-24 RING - UCST208-24
Sealmaster 700193 SCREW - 700193

Allen Bradley 77135-166-51 MOUNTING CLIP KIT - 77135-166-51

Allen Bradley 129-130 MOUNTING KIT - 129-130
Dynacraft 101187 OIL SEAL - 101187
SKF 16019015 OIL SEAL - 16019015
Timken 416404 OIL SEAL - 416404
CR 45X68X12 OIL SEAL - 45X68X12
Timken 470380 OIL SEAL - 470380
Timken 473211 OIL SEAL - 473211
Timken 473225 OIL SEAL - 473225
Timken 473231 OIL SEAL - 473231
Timken 5877 OIL SEAL - 5877

SKF 60X90X10 OIL SEAL - 60X90X10
SKF CR13797 OIL SEAL - CR13797
SKF CR18581 OIL SEAL - CR18581
SKF CR19832 OIL SEAL - CR19832
SKF CR32396 OIL SEAL - CR32396
SKF CR33700 OIL SEAL - CR33700
SKF CR39933 OIL SEAL - CR39933



Qty

Short Description

NOK SB20023516 QOil Seal

NOK SB8511013 Oil Seal

Norgren L74C-4AP-QDN Oil-Fog Lubricator

Siemens 3RU1946-3AA01 Overload Relay Mounting Kit

Long Description

NOK SB20023516 OIL SEAL - SB20023516

NOK SB8511013 OIL SEAL - SB8511013

Norgren L74C-4AP-QDN LUBRICATOR - L74C-4AP-QDN
Siemens 3RU1946-3AA01 OVERLOAD - 3RU1946-3AA01

IFM O5H500 Photoelectric Sensor

Banner Engineering SBEX - 16445 Photoelectric Sensor
Allen Bradley 42EF-D1MNAK-F4 Photoelectric Sensor
Allen Bradley 42EF-D1RCAK-A2 Photoelectric Sensor

IFM O5H500 DIFFUSE REFLECTION SENSOR CLASS IP67
Banner Engineering SBEX - 16445 SCANNER - SBEX - 16445
Allen Bradley 42EF-D1MNAK-F4 SENSOR - 42EF-D1MNAK-F4
Allen Bradley 42EF-D1RCAK-A2 SENSOR - 42EF-D1RCAK-A2

Allen Bradley 42GRR-9000 Photoelectric Sensor
Allen Bradley 42GRR-90L2 Photoelectric Sensor
Allen Bradley 42RLP-4000B Photoelectric Sensor
Allen Bradley 42SRU-6003 Photoelectric Sensor

Allen Bradley 42GRR-9000 SENSOR - 42GRR-9000
Allen Bradley 42GRR-90L2 SENSOR - 42GRR-90L2
Allen Bradley 42RLP-4000B SENSOR - 42RLP-4000B
Allen Bradley 42SRU-6003 SENSOR - 42SRU-6003

Banner Engineering QS18VP6AF300Q5 -10659 Photoelect Banner Engineering QS18VP6AF300Q5 -10659 SENSOR - QS18VP6AF300Q5 -10659
SICK WTR2-P551S08 - 1022927 Photoelectric sensor SICK WTR2-P551S08 - 1022927 SENSOR - WTR2-P551S08 - 1022927
Schneider Electric XUE-H10753H7 Photoelectric Sensor  Schneider Electric XUE-H10753H7 SENSOR - XUE-H10753H7

Dodge 123816 Pillow Block Bearing Dodge 123816 BEARING-123816

Rexnord PU-335 2-3/16 Pillow Block Bearing Rexnord PU-335 2-3/16 BOLT - PU-335 2-3/16

Asahi UCFL311 Pillow Block Bearing Asahi UCFL311 FLANGE BEARING - UCFL311

Sealmaster TB-23 Pillow Block Bearing Sealmaster TB-23 INSERT BEARING - TB-23

Timken RAK 1-7/8 Pillow Block Bearing Timken RAK 1-7/8 RING - RAK 1-7/8

Timken RAK1-7/16 Pillow Block Bearing Timken RAK1-7/16 RING - RAK1-7/16

SKF UCP-205-15 Pillow Block Bearing SKF UCP-205-15 RING - UCP-205-15

Peer Bearing UCP207-23 Pillow Block Bearing Peer Bearing UCP207-23 RING - UCP207-23

Browning VPE-123 Pillow Block Bearing Browning VPE-123 RING - VPE-123

Allen Bradley 800FP-P4 Pilot Light Allen Bradley 800FP-P4 PILOT LIGHT-800FP-P4

Parker PK322HLLO1 Piston Seal Parker PK322HLL01 SEAL KIT - PK322HLLO1

Allen Bradley 1746-A4 PLC Chassis/Rack Allen Bradley 1746-A4 SLC500 4-SLOT RACK - 1746-A4

Koyo D4-UV-2 PLC System Koyo D4-UV-2 MEMORY - D4-UV-2

Titan YS12-Cl Plumbing and Pipe Fitting Titan YS12-Cl STRAINER-YS12-Cl

Jamesbury VPVL-400 DAB Pneumatic Actuator Jamesbury VPVL-400 DAB ACTUATOR - VPVL-400 DAB

Parker Hannifin 17L22BE Pneumatic Component Parker Hannifin 17L22BE LUBRICATOR - 17L22BE

Parker 01.50 BBMAU14A 4.000 Pneumatic Cylinder Parker 01.50 BBMAU14A 4.000 AIR CYLINDER - 01.50 BBMAU14A 4.000
Norgren 091 5-P Pneumatic Cylinder Norgren 091 5-P AIR CYLINDER - 091 5-P

Camozzi 31M2A032A050 Pneumatic cylinder Camozzi 31M2A032A050 AIR CYLINDER - 31M2A032A050

N NN DB A AN 2 ON -2 B o a N DA DA o aa o2 a4 N BN 2 a Do



Qty

- O =2 A A A

N
AN =2 =2 a2 W =2 N -=2DNDDN

N
o

A A A ) =, NW O -

Short Description

Camozzi 60M2L050A0050 Pneumatic Cylinder
Camozzi 60M2L050A0150 Pneumatic Cylinder
Bimba BFT-093-D Pneumatic cylinder

SMC NCME150-0300 Pneumatic Cylinder

Rexroth 1827001610 Pneumatic Cylinder Mounting Hardwe
Parker Hannifin SK50104MA1 Pneumatic Cylinder Rebuild

SMC KQL11-00 Pneumatic Fitting

SMC KQLO04-00 Pneumatic Fitting

SMC KQLO08-00 Pneumatic Fitting

SMC KQL10-00 Pneumatic Fitting

SMC KQL12-00 Pneumatic Fitting

SMC KQL13-00 Pneumatic fitting

Gast Manufacturing 8AM-NRV-28A Pneumatic Motor
DynaMatic AP10DA Pneumatic rotary actuator
SMC ITV2031-31N3L4 Pneumatic Vacuum Regulator
Bourns 3500S-2-501L Potentiometer

Crydom M505032 Power Electronics Component
Potter & Brumfield KHU-17A11-120 Power Relay
Omron MY2 Power Relay

IDEC RR2P-U-DC12V Power Relay

IDEC RR3B-U Power Relay

Phoenix Contact CM-62-PS Power Supply
Tsubaki PL-2 Power Transmission

Martin 50BS13 1 Power Transmission

Martin 50BS19-1-1/4 Power Transmission

Martin 50BS21-1 Power Transmission

Martin 60BS12-1-1/8 Power Transmission

Dwyer KIT 2003 Pressure Gauge

Fairchild 30232 Pressure Regulator

SMC PSE543-N01 Pressure Sensor

Allen Bradley 1746-N2B Programmable Logic Controller
Siemens 6ES7 315-2AG10-0AB0 Programmable Logic Cor Siemens 6ES7 315-2AG10-0AB0 CONTROLLER - 6ES7 315-2AG10-0AB0

Mitsubishi ASACPU Programmable Logic Controller

Omron C20-LK201-EV1 Programmable Logic Controller

Long Description

Camozzi 60M2L050A0050 AIR CYLINDER - 60M2L050A0050
Camozzi 60M2L050A0150 AIR CYLINDER - 60M2L050A0150
Bimba BFT-093-D AIR CYLINDER - BFT-093-D

SMC NCME150-0300 AIR CYLINDER - NCME150-0300
Rexroth 1827001610 BRACKET - 1827001610

Parker Hannifin SK50104MA1 REPAIR KIT - SK50104MA1
SMC KQL11-00 FITTING - KQL11-00

SMC KQLO04-00 FITTING - KQL04-00

SMC KQLO08-00 FITTING - KQL08-00

SMC KQL10-00 FITTING - KQL10-00

SMC KQL12-00 FITTING - KQL12-00

SMC KQL13-00 FITTING - KQL13-00

Gast Manufacturing 8AM-NRV-28A MOTOR - 8AM-NRV-28A
DynaMatic AP10DA VALVE-AP10DA

SMC ITV2031-31N3L4 REGULATOR - ITV2031-31N3L4
Bourns 3500S-2-501L POTENTIOMETER - 3500S-2-501L
Crydom M505032 DIODE 50A 240V M505032 - M505032
Potter & Brumfield KHU-17A11-120 RELAY - KHU-17A11-120
Omron MY2 RELAY - MY2

IDEC RR2P-U-DC12V RELAY - RR2P-U-DC12V

IDEC RR3B-U RELAY - RR3B-U

Phoenix Contact CM-62-PS POWER SUPPLY - CM-62-PS
Tsubaki PL-2 POWER LOCK-PL-2-TSUBAKI

Martin 50BS13 1 SPROCKET - 50BS13 1

Martin 50BS19-1-1/4 SPROCKET - 50BS19-1-1/4

Martin 50BS21-1 SPROCKET - 50BS21-1

Martin 60BS12-1-1/8 SPROCKET - 60BS12-1-1/8

Dwyer KIT 2003 PRESSURE INDICATOR KIT 2003 - Kit 2003
Fairchild 30232 REGULATOR - 30232

SMC PSE543-N01 TRANSDUCER - PSE543-N01

Allen Bradley 1746-N2B CARD - 1746-N2B

Mitsubishi ABACPU CONTROLLER - ASACPU
Omron C20-LK201-EV1 CONTROLLER - C20-LK201-EV1



Qty

-

N O = N =2 =2 a2 g N NDNWODNWN-=_2 ">2NON P 2 0O~ 2~ 000 =2 N W~

Short Description

Allen Bradley 1746-1V8 Programmable Logic Controller
Allen Bradley 1746-OB8 Programmable Logic Controller
Banner Engineering SM31RL - 26105 Proximity Sensor

Omron TL-N10ME1 Proximity Sensor

Schneider Electric XSC-A150519 Proximity Switch

Allen Bradley 800F-AE405 Push Button
Allen Bradley 800FM-LFO Push Button
Allen Bradley 800FM-LF4 Push Button
Allen Bradley 800FP-FX Push Button
Allen Bradley 800MR-A1 Push Button
Allen Bradley 800M-NK Push Button
Koyo 6012-2RSNR Radial Ball Bearing
NTN R6LLBC3-5C Radial Ball Bearing
Peer Bearing 99R12 Radial Bearing
SKF 15005 Radial shaft seal

SKF 160X190X15 Radial shaft seal
SKF CR35082 Radial shaft seal

SKF CR47394 Radial shaft seal

SKF B10920 Radial shaft seal

SKF CR47250 Radial shaft seal

SMC ARS50-N06-Z Regulation

TE Connectivity 70-ODC15 Relay
Siemens 3TX7120-1FF13 Relay
Square D 48074 - 8501KP12V20 Relay
Allen Bradley 700-HA32Z12 Relay
Allen Bradley 700-HA33A1-4-A Relay
Allen Bradley 700-HF32A1-1-4 Relay
Allen Bradley 700-HF32Z24-3-4 Relay
Allen Bradley 700-N400A1 Relay

Allen Bradley 700-TBR24 Relay

TE Connectivity KRP14A Relay

IDEC RH4B-ULC Relay

IDEC RM2S-U Relay

IDEC RR2P-UL-AC120 Relay

Long Description

Allen Bradley 1746-IV8 INPUT MODULE 24VDC 8 POINTS
Allen Bradley 1746-OB8 MODULE - 1746-OB8

Banner Engineering SM31RL - 26105 SENSOR - SM31RL - 26105
Omron TL-N10ME1 SWITCH - TL-N10ME1

Schneider Electric XSC-A150519 SWITCH - XSC-A150519
Allen Bradley 800F-AE405 PUSH BUTTON - 800F-AE405
Allen Bradley 800FM-LFO PUSH BUTTON - 800FM-LFO
Allen Bradley 800FM-LF4 PUSH BUTTON - 800FM-LF4
Allen Bradley 800FP-FX PUSH BUTTON - 800FP-FX

Allen Bradley 800MR-A1 PUSH BUTTON - 800MR-A1
Allen Bradley 800M-NK SWITCH - 800M-NK

Koyo 6012-2RSNR BALL BEARING - 6012-2RSNR

NTN R6LLBC3-5C RING - R6LLBC3-5C

Peer Bearing 99R12 BEARING-99R12

SKF 15005 OIL SEAL - 15005

SKF 160X190X15 OIL SEAL - 160X190X15

SKF CR35082 OIL SEAL - CR35082

SKF CR47394 OIL SEAL - CR47394

SKF B10920 SEAL - B10920

SKF CR47250 SEAL CRW1 120X150X12

SMC AR50-N06-Z REGULATOR - AR50-N06-Z

TE Connectivity 70-ODC15 DC OUTPUT - 70-ODC15
Siemens 3TX7120-1FF13 RELAY - 3TX7120-1FF13
Square D 48074 - 8501KP12V20 RELAY - 48074 - 8501KP12V20
Allen Bradley 700-HA32Z12 RELAY - 700-HA32Z12

Allen Bradley 700-HA33A1-4-A RELAY - 700-HA33A1-4-A
Allen Bradley 700-HF32A1-1-4 RELAY - 700-HF32A1-1-4
Allen Bradley 700-HF32224-3-4 RELAY - 700-HF32224-3-4
Allen Bradley 700-N400A1 RELAY - 700-N400A1

Allen Bradley 700-TBR24 RELAY - 700-TBR24

TE Connectivity KRP14A RELAY - KRP14A

IDEC RH4B-ULC RELAY - RH4B-ULC

IDEC RM2S-U RELAY - RM2S-U

IDEC RR2P-UL-AC120 RELAY - RR2P-UL-AC120



Qty

-
~ N

[S R NI R S o

N N
[e2JNe>)

= A A a N OO,

N
o

Ol W W W 2 B A A B A a W A

Short Description

IDEC RTB-CB2N Relay & Timer

Allen Bradley 700-HC24A1 Relay and Timer
IDEC SY4S-62 Relay Socket
McMaster-Carr DIN471-037 Retaining Ring
SKF 60 27 Roller Bearing

Rexnord ZB-2115 Roller Bearing

Fafnir KP8A-FS428 Roller Bearing
Rexnord T-B22431H Roller Bearing
Rexnord ZBR-2207 Roller Bearing

SKF 452322M2W502 Roller bearing
McMaster-Carr ISO-10B -10L Roller Chain
Tsubaki RS08B-2CL Roller Chain

Tsubaki RS50-2 Roller Chain

Tsubaki RS08B-1CL Roller Chain Connecting Link
B&B Manufacturing 25B48 Roller Chain Sprocket

Martin 40BS11HT Roller Chain Sprocket
Martin 60BTB26-2012 Roller Chain Sprocket
Martin D60B14H-1-1/4 Roller Chain Sprocket
Tsubaki D60B26-2-1/2 Roller Chain Sprocket
Martin DS50A16-1 Roller Chain Sprocket
SKF CR42427 Rotary Shaft Seal

SKF CR49966 Rotary Shaft Seal

Schneider Electric XPSAC5121P Safety module

Schneider Electric XPSAT3410 Safety Relay
Telemecanique XCS-Z13 Safety switch
Timken 415085 Seal

SKF CR30125 Seal

SKF CR39851 Seal

SKF CR39932 Seal

SKF CR48769 Seal

SKF CR550244 Seal

Siemens 52SA2BAB Selector Switch Operator

NTN 1205 Self Aligning Ball Bearing
SKF 2305E-2RS Self Aligning Ball Bearing

Long Description

IDEC RTB-CB2N RELAY - RTB-CB2N

Allen Bradley 700-HC24A1 CONTACT - 700-HC24A1
IDEC SY4S-62 RELAY - SY4S-62

McMaster-Carr DIN471-037 RING - DIN471-037
SKF 60 27 BALL BEARING - 60 27

Rexnord ZB-2115 BOLT - ZB-2115

Fafnir KP8A-FS428 RING - KP8A-FS428

Rexnord T-B22431H RING - T-B22431H

Rexnord ZBR-2207 RING - ZBR-2207

SKF 452322M2W502 ROLLER BEARING - 452322M2W502
McMaster-Carr ISO-10B -10L LINK - ISO-10B -10L
Tsubaki RS08B-2CL LINK - RS08B-2CL

Tsubaki RS50-2 ROLLER CHAIN - RS50-2

Tsubaki RS08B-1CL LINK - RS08B-1CL

B&B Manufacturing 25B48 SPROCKET - 25B48
Martin 40BS11HT SPROCKET - 40BS11HT

Martin 60BTB26-2012 SPROCKET - 60BTB26-2012
Martin D60B14H-1-1/4 SPROCKET - D60B14H-1-1/4
Tsubaki D60B26-2-1/2 SPROCKET - D60B26-2-1/2
Martin DS50A16-1 SPROCKET - DS50A16-1

SKF CR42427 OIL SEAL - CR42427

SKF CR49966 OIL SEAL - CR49966

Schneider Electric XPSAC5121P RELAY - XPSAC5121P
Schneider Electric XPSAT3410 SAFETY BLOCK - XPSAT3410
Telemecanique XCS-Z13 FLEX KEY - XCS-Z13
Timken 415085 OIL SEAL - 415085

SKF CR30125 OIL SEAL - CR30125

SKF CR39851 OIL SEAL - CR39851

SKF CR39932 OIL SEAL - CR39932

SKF CR48769 OIL SEAL - CR48769

SKF CR550244 OIL SEAL - CR550244

Siemens 52SA2BAB SWITCH - 52SA2BAB

NTN 1205 BALL BEARING - 1205

SKF 2305E-2RS RING-2305E-2RS



Qty

-
AW R AN 2 A NN R A A AN W

N
-

O A 2 A AN O NN®W AN A

Short Description

Honeywell CSLA2CD Sensor
Red Lion IMS03166 Sensor
Keyence EZ-18M Sensor

Allen Bradley 129-130-CH Sensor

Leuze electronic 500 41042-PRK 96 K/P-3368-41 Sensor

Banner Engineering SL30VB6VQ / 56567 Sensor
Datalogic TL10-011 Sensor

Omron E2A-M18KS08-M1-B2 Sensor

Schneider Electric BMH0702P32F2A Servo Motor
SKF 30X47X8 Shaft Oil Seal

CR 40X60X10 Shaft seal

Nordson 1069020 Solenoid

Norgren B3022-S8 Solenoid

Texas Instruments B9508 Specialty Battery

Dart Controls 253G-200C Speed Controller
Boston Gear F715-10-B5-G / 51900 Speed Reducer
SKF GEH-40-ES-2RS Spherical Plain Bearing
SKF 22214E Spherical roller bearing

McGill SB-22206 Spherical Roller Bearing

SKF 22211E-C3 Spherical roller bearing

Valco Melton 702XX542 Spray valve

Tsubaki 40B15-0.875 Sprocket

Martin 40B21H Sprocket

Martin 40BS11-1/2 Sprocket

Martin 50BS12 1 Sprocket

Martin 50BS15-1-1/4 Sprocket

Martin 50BS22-1-1/2 Sprocket

Martin 50BS24-1-1/2 Sprocket

Martin 50BTB17H Sprocket

Martin 60B22-1-1/4 Sprocket

G&G Manufacturing Company 60B22-1-5/8 Sprocket
Nitro 60B24-1 Sprocket

Nitro 60B24-1-7/16 Sprocket

Boston Gear 60B26-1-11/16 Sprocket

Long Description

Honeywell CSLA2CD BOARD - CSLA2CD

Red Lion IMS03166 IMS03166 METER 120/230VAC - IMS03166
Keyence EZ-18M PROXIMITY SENSOR M18, NPN, NC

Allen Bradley 129-130-CH SENSOR - 129-130-CH

Leuze electronic 500 41042-PRK 96 K/P-3368-41 SENSOR - 500 41042-PRK 96 K/P-3368-41
Banner Engineering SL30VB6VQ / 56567 SENSOR - SL30VB6VQ / 56567

Datalogic TL10-011 SENSOR - TL10-011

Omron E2A-M18KS08-M1-B2 SWITCH - E2A-M18KS08-M1-B2
Schneider Electric BMH0702P32F2A MOTOR - BMH0702P32F2A
SKF 30X47X8 OIL SEAL - 30X47X8

CR 40X60X10 OIL SEAL - 40X60X10

Nordson 1069020 SOLENOID - 1069020

Norgren B3022-S8 SOLENOID - B3022-S8

Texas Instruments B9508 BATTERY - B9508

Dart Controls 253G-200C CONTROLLER - 253G-200C

Boston Gear F715-10-B5-G / 51900 GEAR BOX-F715-10-B5-G / 51900
SKF GEH-40-ES-2RS SPH R BEARING - GEH-40-ES-2RS

SKF 22214E RING - 22214E

McGill SB-22206 RING - SB-22206

SKF 22211E-C3 SPH R BEARING - 22211E-C3

Valco Melton 702XX542 VALVE - 702XX542

Tsubaki 40B15-0.875 SPROCKET - 40B15-0.875

Martin 40B21H SPROCKET - 40B21H

Martin 40BS11-1/2 SPROCKET - 40BS11-1/2

Martin 50BS12 1 SPROCKET - 50BS12 1

Martin 50BS15-1-1/4 SPROCKET - 50BS15-1-1/4

Martin 50BS22-1-1/2 SPROCKET - 50BS22-1-1/2

Martin 50BS24-1-1/2 SPROCKET - 50BS24-1-1/2

Martin 50BTB17H SPROCKET - 50BTB17H

Martin 60B22-1-1/4 SPROCKET - 60B22-1-1/4

G&G Manufacturing Company 60B22-1-5/8 SPROCKET - 60B22-1-5/8
Nitro 60B24-1 SPROCKET - 60B24-1

Nitro 60B24-1-7/16 SPROCKET - 60B24-1-7/16

Boston Gear 60B26-1-11/16 SPROCKET - 60B26-1-11/16



Qty

N NN = =~ 0=~ W =2 NDNNDNDDWW O =2 0N -~

RN
SN

0 0 NN NN AN PMBMMDNMNDN

Short Description

G&G Manufacturing Company 60B26-2-1/2 Sprocket
G&G Manufacturing Company 60B27-1-3/8 Sprocket

Martin 60B29 Sprocket

Martin 60B32-1-15/16 Sprocket

Martin 60BS11 Sprocket

Nitro 60BS12-1-7/16 Sprocket

Martin 60BS13 1 Sprocket

Martin 60BS15-1-1/2 Sprocket

Nitro 60BS15-1-7/16 Sprocket

Martin 60BS17-1-1/4 Sprocket

Martin 60BS21-1-1/4 Sprocket

Martin 80B15-1-1/4 Sprocket

Tsubaki D50B24 1-1/2 Sprocket

Martin D60Q27H Sprocket

Ingersoll Rand 85542652 Stepper Motor
Cutler Hammer C362H5 Switch

Allen Bradley 800T-16HX2KB6 Switch
Square D 2510-TYPEKO2 Switch
Honeywell BZ-R88 Switch

Honeywell BZE6-2RN Switch

Timken 388DE Tapered Roller Bearing
Timken L44610 Tapered Roller Bearing
Timken 05185D Tapered Roller Bearing
Timken 18620D Tapered Roller Bearing
Timken 18685 Tapered Roller Bearing
SKF 25520 Tapered Roller Bearing
Timken 25590 Tapered roller bearing
SKF 32006X Tapered roller bearing
Timken JM716610 Tapered Roller Bearing
Timken JM716649 Tapered Roller Bearing
Timken K-78551 Tapered Roller Bearing
Timken L44643 Tapered Roller Bearing
KML LM29710 Tapered Roller Bearing
KML LM29749 Tapered Roller Bearing

Long Description

G&G Manufacturing Company 60B26-2-1/2 SPROCKET - 60B26-2-1/2
G&G Manufacturing Company 60B27-1-3/8 SPROCKET - 60B27-1-3/8
Martin 60B29 SPROCKET - 60B29

Martin 60B32-1-15/16 SPROCKET - 60B32-1-15/16
Martin 60BS11 SPROCKET - 60BS11.0625

Nitro 60BS12-1-7/16 SPROCKET - 60BS12-1-7/16
Martin 60BS13 1 SPROCKET - 60BS13 1

Martin 60BS15-1-1/2 SPROCKET - 60BS15-1-1/2
Nitro 60BS15-1-7/16 SPROCKET - 60BS15-1-7/16
Martin 60BS17-1-1/4 SPROCKET - 60BS17-1-1/4
Martin 60BS21-1-1/4 SPROCKET - 60BS21-1-1/4
Martin 80B15-1-1/4 SPROCKET - 80B15-1-1/4
Tsubaki D50B24 1-1/2 SPROCKET - D50B24 1-1/2
Martin D60Q27H SPROCKET - D60Q27H

Ingersoll Rand 85542652 MOTOR - 85542652

Cutler Hammer C362H5 HANDLE - C362H5

Allen Bradley 800T-16HX2KB6 PUSH BUTTON - 800T-16HX2KB6
Square D 2510-TYPEKO2 SWITCH - 2510-TYPEKO2
Honeywell BZ-R88 SWITCH - BZ-R88

Honeywell BZE6-2RN SWITCH - BZE6-2RN

Timken 388DE BEARING - 388DE

Timken L44610 BEARING CUP - L44610

Timken 05185D BEARING-05185D-TIMKEN

Timken 18620D TAPER R BEARING - 18620D
Timken 18685 TAPER R BEARING - 18685

SKF 25520 TAPER R BEARING - 25520

Timken 25590 TAPER R BEARING - 25590

SKF 32006X TAPER R BEARING - 32006X

Timken JM716610 TAPER R BEARING - JM716610
Timken JM716649 TAPER R BEARING - JM716649
Timken K-78551 TAPER R BEARING - K-78551
Timken L44643 TAPER R BEARING - L44643

KML LM29710 TAPER R BEARING - LM29710

KML LM29749 TAPER R BEARING - LM29749



Qty

-

Short Description

Zebra CBA-T14-C09ZA Technical Accessory

Parker Hannifin 180-05-M50X-IFO Technical Manual
Fuji Electric PXR3-RCY1-4VOA1 Temperature Controller
Fuji Electric PXZ5-RCY2-5V Temperature Controller
IFM TK6330 Temperature Sensor
Allen Bradley 1492-EA35 Terminal Block
Allen Bradley 1492-N36 Terminal Block
Allen Bradley 1492-F1 Terminal Block
Allen Bradley 1492-W4 Terminal Block

Zebra R52919 Thermal Label Printer

Schneider Electric LRD05 Thermal overload relay
Allen Bradley W49 Thermal overload relay heater element
Allen Bradley 100-FPTB30 Timing Module

INA LR207-X-2RS Track roller

Lovejoy D6-16363 Universal Joint

Gates 8400-1360 V-Belt
Apollo 71-AR8-64 Valve

SMC VPA342-1-01A Valve

SMC VHS50-10 Valve

SKF CR99275 Wear sleeve

SMC D-A93MAPC

3GDJ5

NKIB5913

4600 Z

5915PC-23T-B30-A00

ACMO04965

Federal-Mogul 473016

21.MC.50734

RCI210-DA / FO5F07-14

SKF 99125

01.50 BB2H U116 1.000

0410630401

0822242003

0822341001

Long Description
Zebra CBA-T14-C09ZA CABLE - CBA-T14-C09ZA
Parker Hannifin 180-05-M50X-IFO HOSE - 180-05-M50X-IFO

Fuji Electric PXR3-RCY1-4VOA1 CONTROLLER - PXR3-RCY1-4VOA1

Fuji Electric PXZ5-RCY2-5V CONTROLLER - PXZ5-RCY2-5V
IFM TK6330 SENSOR - TK6330

Allen Bradley 1492-EA35 END ANCHOR DIN RAIL - 1492-EA35
Allen Bradley 1492-N36 END PIECE - 1492-N36
Allen Bradley 1492-F1 TERMINAL BLOCK - 1492-F1
Allen Bradley 1492-W4 TERMINAL BLOCK - 1492-W4

Zebra R52919 BAR PARALLEL ADJUST - R52919

Schneider Electric LRD05 RELAY - LRD05
Allen Bradley W49 HEATER - W49
Allen Bradley 100-FPTB30 PNEUMATIC TIMING - 100-FPTB30
INA LR207-X-2RS ROLLER BEARING - LR207-X-2RS

Lovejoy D6-16363 UNIVERSAL JOINT - D6-16363

Gates 8400-1360 BELT - 8400-1360
Apollo 71-AR8-64 ACTUATOR - 71-AR8-64

SMC VPA342-1-01A SOLENOID - VPA342-1-01A

SMC VHS50-10 VALVE - VHS50-10

SKF CR99275 SLEEVE - CR99275

SMC D-A93MAPC SWITCH - D-A93MAPC

3GDJ5 1.25 3-PRONG KNOB THRU 1/4-20 - 3GDJ5
NKIB5913 AC BALL BEARING - NKIB5913

4600 Z AC FAN - 4600 Z

5915PC-23T-B30-A00 AC FAN - 5915PC-23T-B30-A00
ACMO04965 AC MOTOR - ACM04965

Federal-Mogul 473016 OIL SEAL - 473016

21.MC.50734 ACTUATOR - 21.MC.50734

RCI210-DA / FO5F07-14 ACTUATOR - RCI210-DA/ FO5F07-14
SKF 99125 ADAPTER - 99125

01.50 BB2H U116 1.000 AIR CYLINDER - 01.50 BB2H U116 1.000

0410630401 AIR CYLINDER - 0410630401
0822242003 AIR CYLINDER - 0822242003
0822341001 AIR CYLINDER - 0822341001



Qty

5
1
1
1
5
1
3
2
2
2
1
2
2
1
1
1
1
4
3
1
1
1
5
1
1
3
1
1
6
3
2
1
1
1

Short Description
0822341003
1024-9006
4-C20-C-5-K
800T-J42KR7A
9428953
SMC CDG1FA50TN-400
CLR-0131-166
CM-RCO0750
SAM8690P00142
SAM8690P00291
UWA82403
UWA82702
UR45046
PHA108411 - S/IN
B-058258-00
XVA-C65C0241
2750040401
3997220
KDE1206PTS1
SAMO03851093L
SAMO04444272
SAM09448130
300-00089-8-0
Parker 860-MAREN
UC208-24
6204-2RS1
UR54393
BR-2/3AE5SP
CR14250SE
TL-5104
TL-5903
Viking 2-060-032-722-00
P-323
126700-LCBS-69Y 290X

Long Description

0822341003 AIR CYLINDER - 0822341003
1024-9006 AIR CYLINDER - 1024-9006

4-C20-C-5-K AIR CYLINDER - 4-C20-C-5-K
800T-J42KR7A AIR CYLINDER - 800T-J42KR7A
9428953 AIR CYLINDER - 9428953

SMC CDG1FA50TN-400 AIR CYLINDER - CDG1FA50TN-400
CLR-0131-166 AIR CYLINDER - CLR-0131-166
CM-RC0750 AIR CYLINDER - CM-RC0750
SAM8690P00142 AIR CYLINDER - SAM8690P00142
SAM8690P00291 AIR CYLINDER - SAM8690P00291
UWAB82403 AIR CYLINDER - UWA82403

UWAB82702 AIR CYLINDER - UWA82702

UR45046 AIR CYLINDER UR45046 MWU
PHA108411 - S/N AIR CYLINDER-PHA108411 - S/N
B-058258-00 ANGLE-B-058258-00

XVA-C65C0241 ANILOX ROLL GLASS COATING - XVA-C65C0241

2750040401 ARM - 2750040401

3997220 ARM - 3997220

KDE1206PTS1 AXIAL FAN - KDE1206PTS1
SAMO03851093L AXLE - SAM03851093L

SAM04444272 AXLE - SAM04444272

SAM09448130 AXLE - SAM09448130

300-00089-8-0 BALL BEARING - 300-00089-8-0

Parker 860-MAREN BALL BEARING - 860-MAREN
UC208-24 BALL BEARING 1-1/2" X 3-1/8" BLACK OXIDE
6204-2RS1 BALL BEARING 1116228900 BOBST POST
UR54393 BAR BUTT - UR54393

BR-2/3AE5SP BATTERY - BR-2/3AE5SP

CR14250SE BATTERY - CR14250SE

TL-5104 BATTERY - TL-5104

TL-5903 BATTERY - TL-5903

Viking 2-060-032-722-00 BEARING HOUSING 2-060-032-722-00
P-323 BEARING-P-323

126700-LCBS-69Y 290X BELT - 126700-LCBS-69Y 290X



Qty

48
150

N A NN =20 W =2 N =2 a2 A a a a a a NN OWWWN-_2 22 a2 DNDDNdDN

Short Description
141024

22237031
22237032
36AXLMPB
399738
50T10/1560
54274

TB Wood's 8.0X2B-SK

9388-5106
BSA1810000094
P-502276-16
Gates P165M09
SY1841-ORG
9411120
9183243
SAM04604048
A-057847-00
60713-011
066805
24504-001
42507-0020
736-227
736-498
EL066681
ZC2001-214839
NSK 023011
023017

123583

123817

124134
FCF-209
FNL303

P213

SKF SAF-611L

Long Description

141024 BELT - 141024

22237031 BELT - 22237031

22237032 BELT - 22237032

36AXLMPB BELT - 36AXLMPB

399738 BELT - 399738

50T10/1560 BELT - 50T10/1560

54274 BELT - 54274-3X29MM

TB Wood's 8.0X2B-SK BELT - 8.0X2B-SK
9388-5106 BELT - 9388-5106
BSA1810000094 BELT - BSA1810000094
P-502276-16 BELT - P-502276-16

Gates P165M09 BELT - P165M09
SY1841-ORG BELT - SY1841-ORG
9411120 BLADE - 9411120

9183243 BLOCK DANCER CARRIAGE - 9183243
SAM04604048 BLOCK SAM04604048 - SAM04604048
A-057847-00 BLOCK-A-057847-00
60713-011 BLOWER - 60713-011

066805 BOARD - 066805

24504-001 BOARD - 24504-001
42507-0020 BOARD - 42507-0020
736-227 BOARD - 736-227

736-498 BOARD - 736-498

EL066681 BOARD - EL066681
ZC2001-214839 BOARD - ZC2001-214839
NSK 023011 BOLT - 023011

023017 BOLT - 023017

123583 BOLT - 123583

123817 BOLT - 123817

124134 BOLT - 124134

FCF-209 BOLT - FCF-209

FNL303 BOLT - FNL303

P213 BOLT - P213
SKF SAF-611L BOLT - SAF-611L



Qty

N N 2 oA A A a B A A NN A A A D W~

= N
N

N
N OO = & =2 O N W N DN ©

Short Description
SAM89750087
UCFCSX10

Lily Bearing UCFCSX10-32

Koyo UCFCX18
WSE8847
9905233
Ametek 115937
79-03-02
B-062407-00
SAMO04445426
UR508210
UR54628
WFY2889
MQUUR52236
00383221

SEW Eurodrive 1870564
5035046
9187303

JCB 9150800
UR46059
126450

126486
30-391115-100-3
30-631220-184-2
4247

9871846
SAM89350010
C9000-038
23275T17

Fenner Drives 6202840UP

BM-3020-LMB
BSA1111044600
BV60030100
SAM04454118

Long Description

SAM89750087 BOLT - SAM89750087

UCFCSX10 BOLT - UCFCSX10

Lily Bearing UCFCSX10-32 BOLT - UCFCSX10-32
Koyo UCFCX18 BOLT - UCFCX18

WSE8847 BOLT - WSE8847

9905233 BOOSTER 5V 150W - 9905233

Ametek 115937 BRACKET - 115937

79-03-02 BRACKET - 79-03-02

B-062407-00 BRACKET - B-062407-00
SAMO04445426 BRACKET - SAM04445426
UR508210 BRACKET - UR508210

UR54628 BRACKET - UR54628

WFY2889 BRACKET - WFY2889

MQUUR52236 BRACKETGLUE UNIT SF - UR52236
00383221 BRAKE - 00383221

SEW Eurodrive 1870564 BRAKE - 1870564
5035046 BRAKE - 5035046

9187303 BRAKE - 9187303

JCB 9150800 BRAKE-9150800

UR46059 BRG CAP - UR46059

126450 BRUSH - 126450

126486 BRUSH - 126486

30-391115-100-3 BRUSH - 30-391115-100-3
30-631220-184-2 BRUSH - 30-631220-184-2
4247 BRUSH - 4247

9871846 BRUSH - 9871846 BW PAPERSYSTEMS
SAM89350010 BRUSH - SAM89350010
C9000-038 BRUSH SMALL FEED BRUSH-C9000-038
23275T17 BUSHING - 23275T17

Fenner Drives 6202840UP BUSHING - 6202840UP
BM-3020-LMB BUSHING - BM-3020-LMB
BSA1111044600 BUSHING - BSA1111044600
BV60030100 BUSHING - BV60030100
SAMO04454118 BUSHING - SAM04454118



Qty

o A
A NN O 2 2

=S AN W 00O O B A A A A AW AC N W A A AN A

Short Description
SAMO04454130
SAM88050007
UMAO0357
UR54223
UWA82394
ZUMBB8060ZU

00513257

32345088

1434992

Phoenix Contact 1435247
1435548
1MM-PLUGCABLE
32345021

3257

6990067
7000-40041-2251000
77355031

77771891

Molex 80350-005
Mitsubishi FX-EEPROM-8
H3720-20

HP50-COM
SAM83193451
SAM83195613
SAM83195708
UWA90355

9309944
CRSB-14
GCR35EE-AMC6
S65LW

9309949
00513151

Long Description

SAM04454130 BUSHING - SAM04454130
SAM88050007 BUSHING - SAM88050007
UMAO0357 BUSHING - UMA0357

UR54223 BUSHING - UR54223

UWAB82394 BUSHING - UWA82394
ZUMB8060ZU BUSHING - ZUMB8060ZU

BUSHING 3/8 ID-6391K176

00513257 CABLE - 00513257

32345088 CABLE - 120086-8114

1434992 CABLE - 1434992
Phoenix Contact 1435247 CABLE - 1435247
1435548 CABLE - 1435548

1MM-PLUGCABLE CABLE - TMM-PLUGCABLE
32345021 CABLE - 32345021

3257 CABLE - 3257

6990067 CABLE - 6990067
7000-40041-2251000 CABLE - 7000-40041-2251000
77355031 CABLE - 77355031

77771891 CABLE - 77771891
Molex 80350-005 CABLE - 80350-005
Mitsubishi FX-EEPROM-8 CABLE - FX-EEPROM-8
H3720-20 CABLE - H3720-20

HP50-COM CABLE - HP50-COM
SAM83193451 CABLE - SAM83193451 BOBST
SAM83195613 CABLE - SAM83195613
SAM83195708 CABLE - SAM83195708
UWA90355 CABLE - UWA90355

CABLE 4PIN FEMALE 4M-1200650366
9309944 CAM - 9309944

CRSB-14 CAM FOLLOWER - CRSB-14

GCR35EE-AMC6 CAM FOLLOWER - GCR35EE-AMC6

S65LW CAM FOLLOWER - S65LW
9309949 CAMVACU - 9309949
00513151 CARD - 00513151



Qty

N = O W N =~ N W D W DO O A2 01 WO PPN A A

Short Description

00513154
151XX306
43141-004061
6450068
6450115
705358-73A
9422613
9601570
9877023
9903652
9908222
9909711
9960623
04712

099110
110592
110593
C-64660L-08-P
WFG2261

023884
27000052
27005220
999-462-0005

27000053
SAM65290079

Phoenix Contact 1511857

A972-646
A972-647

Amphenol MS3102R14S-5P
PM-03PZPNB700H - 1506752

SAM83600207

Long Description
00513154 CARD - 00513154
151XX306 CARD - 151XX306
43141-004061 CARD - 43141-004061
6450068 CARD - 6450068
6450115 CARD - 6450115
705358-73A CARD - 705358-73A
9422613 CARD - 9422613
9601570 CARD - 9601570
9877023 CARD - 9877023
9903652 CARD - 9903652
9908222 CARD - 9908222
9909711 CARD - 9909711
9960623 CARD - 9960623
04712 CHAIN - 04712
099110 CHAIN - 099110
110592 CHAIN - 110592
110593 CHAIN - 110593
C-64660L-08-P CHAIN - C-64660L-08-P
WFG2261 CHAIN - WFG2261
CHAIN LINKS-RS12B
CHAIN-RS16B-2
023884 COIL - 023884
27000052 COIL - 27000052
27005220 COIL - 27005220
999-462-0005 COIL - 999-462-0005
COIL 10/24V 6356024 H-067666-04
27000053 COIL-27000053
SAM65290079 CONNECTION - SAM65290079
Phoenix Contact 1511857 CONNECTOR - 1511857
A972-646 CONNECTOR - A972-646
A972-647 CONNECTOR - A972-647
Amphenol MS3102R14S-5P CONNECTOR - MS3102R14S-5P
PM-03PZPNB700H - 1506752 CONNECTOR - PM-03PZPNB700H - 1506752
SAM83600207 CONNECTOR - SAM83600207



Qty

N N 2 a2 aAa NN 2N W D P A a N A NN DD DD N

Short Description
68514437074

Allen Bradley 100-A09ND3

Stearns 116356-8
123145

Siemens 21GF32AF
5200 Jzz
62.33.9.024.0070
751F14

9999D01

9433

244244

4FC3B

9454092

99111F
E5C2R20J392FAC120
PK1902-112288
SP50

WK4T-2-PSW 3M
Turck WK4T-3-PSW 3M
Turck WK4T-5-PSW 3M

520K2

702XX209

702XX215

702XX219

153212

3260004

768XX696

UWA81275

M5216TV

DE-311

UMK-SE-11.25-1
Timken 205PP
Parker 2539-UNK

Long Description

68514437074 CONNECTOR-10197000
Allen Bradley 100-A09ND3 CONTACT - 100-A09ND3
Stearns 116356-8 CONTACT - 116356-8

123145 CONTACT - 123145

Siemens 21GF32AF CONTACT - 21GF32AF

5200 JZZ CONTACT - 5200 JZZ

62.33.9.024.0070 CONTACT - 62.33.9.024.0070
751F14 CONTACT - 751F14

9999D01 CONTACT - 9999D01

9433 CONTACT BLOCK - 9433

244244 CONTROLLER - 244244

4FC3B CONTROLLER - 4FC3B

9454092 CONTROLLER - 9454092

99111F CONTROLLER - 99111F
E5C2R20J392FAC120 CONTROLLER - E5C2R20J392FAC120
PK1902-112288 CONTROLLER - PK1902-112288
SP50 CONTROLLER - SP50

CONVEYOR MOTOR-C7500-028

WK4T-2-PSW 3M CORDSET - WK4T-2-PSW 3M
Turck WK4T-3-PSW 3M CORDSET - WK4T-3-PSW 3M
Turck WK4T-5-PSW 3M CORDSET - WK4T-5-PSW 3M
520K2 COUNTER - 520K2

702XX209 COUNTER - 702XX209

702XX215 COUNTER - 702XX215

702XX219 COUNTER - 702XX219

153212 COUNTER-153212

3260004 COUPLING - 3260004

768XX696 COUPLING - 768XX696

UWA81275 COUPLING UWA81275 MWU

M5216TV CYLIN R BEARING - M5216TV

DE-311 DE-311 SERIAL DEVICE SERVER - DE-311
UMK-SE-11.25-1 DECC TERMINAL BREAK OUT - UMK-SE-11.25-1
Timken 205PP DG BALL BEARING - 205PP

Parker 2539-UNK DG BALL BEARING - 2539-UNK



Qty

Short Description
406SF
62208-2RS1
593XX049
6330003
201AN-5D4

Browning 1296862

Allen Bradley 1492-IFM20F
Allen Bradley 1492-IFM40F
3167521

3260011

9905254

W300 / 0220-06015-300
9910614

UR53632

SAM77700084
SAM77700083

6224 NM

Siemens 3RT19 161CCO00
318-933.00

327-086

Amphenol 97-3106A-14S-6S
K197507SET - 8.0010.4070.0000
SAM83460771

UR40354

SAM04604867

DE5228U

SC162-W1

100142

10760-50
50AT10CN25DDN93

Long Description
406SF DG BALL BEARING - 406SF
62208-2RS1 DG BALL BEARING - 62208-2RS1 80X40X23
593XX049 DIAPHRAM TEFLON - 593XX049
6330003 DIODES FOR HIGH VOLTAGE BRIDGE - 6330003
201AN-5D4 DISPLAY - 201AN-5D4
DOWEL PIN 5/8 -97175A925
DOWEL PINS 3/8 X 2 1/2-98381A634
Browning 1296862 DRIVE - 1296862
Allen Bradley 1492-IFM20F DRIVE - 1492-IFM20F
Allen Bradley 1492-IFM40F DRIVE - 1492-IFM40F
3167521 DRIVE - 3167521
3260011 DRIVE - 3260011
9905254 DRIVE - 9905254
W300 / 0220-06015-300 DRIVE - W300 / 0220-06015-300
9910614 DRYEND XYCOM CARD 9910614-1 MARQUIP
UR53632 ECCENTRIC PR STOP UR53632
SAM77700084 ELBOW RIB SAM77700084 790813
SAM77700083 ELBOW SAM77700083 BOBST
6224 NM ELECTRIC FAN 24VDC 12W 172X51MM 206CFM
Siemens 3RT19 161CC00 ELECTRICAL DIAGRAM - 3RT19 161CCO00
318-933.00 ENCODER - 318-933.00
327-086 ENCODER - 327-086
Amphenol 97-3106A-14S-6S ENCODER - 97-3106A-14S-6S
K197507SET - 8.0010.4070.0000 ENCODER - K197507SET - 8.0010.4070.0000
SAM83460771 ENCODER - SAM83460771
UR40354 END CAP - UR40354
SAM04604867 END PIECE - SAM04604867
END SLOT HOLDER-DC297L
DE5228U FAN - DE5228U
SC162-W1 FAN GUARD - SC162-W1
100142 FILTER - 100142
10760-50 FILTER - 10760-50
50AT10CN25DDN93 FILTER - 50AT10CN25DDN93
FILTER - 5541745



Qty

N N N O =~ b 2 01 2 2 A o b a2 0001 © N BN DN-_2IN-_2DNO0W OO =2 2~ 0N W

Short Description
901504

9998K223

A73249-1
DDPSFST-60 /218184
ICT105

SC162-P15/45

VALCO CINCINNATI 750XX019

750XX023
UMA4721

Dodge 124209 - F4B-SC-108

125893 - F4B-SC-55M
Timken 128503
701947

MALFB250X
UCF209-26
UEFB-206-19
SCJT-1/2

096871

47

SAM03898305

00512265
20071101022
9522341
SAM87800023
085XX022

Reliance 610266-50A
Bussmann 7696K33
927-860

Littelfuse FLSR80ID
Powerfuse JTD225ID
LLSRK9ID
FR27UQ69V80T
16371034

Long Description

901504 FILTER - 901504

9998K223 FILTER - 9998K223

A73249-1 FILTER - A73249-1

DDPSFST-60 /218184 FILTER - DDPSFST-60 / 218184
ICT105 FILTER - ICT105

SC162-P15/45 FILTER - SC162-P15/45
VALCO CINCINNATI 750XX019 FITTING CONNECTOR - 750XX019
750XX023 FITTING CONNECTOR - 750XX023

UMA4721 FLANGE - UMA4721
Dodge 124209 - F4B-SC-108 FLANGE BEARING - 124209 - F4B-SC-108
125893 - F4B-SC-55M FLANGE BEARING - 125893 - F4B-SC-55M
Timken 128503 FLANGE BEARING - 128503

701947 FLANGE BEARING - 701947

MALFB250X FLANGE BEARING - MALFB250X
UCF209-26 FLANGE BEARING - UCF209-26
UEFB-206-19 FLANGE BEARING - UEFB-206-19
SCJT-1/2 FLANGE BEARING 1/2" BORE .50 IN 7370 RPM
096871 FLANGE EXIT TABLES - 096871

47 FLANGE FOR 1" INK ASSY - 47

SAMO03898305 FLANGE SAM03898305 - SAM03898305

FLANGED BUSHING 5/8 ID -2938T47

00512265 FLEX 1/O TERMINATION PANEL - 00512265
270071101022 FLOAT STICKLE STEAM - 20071101022
9522341 FLUE GATE - 9522341

SAM87800023 FLYWHEEL - SAM87800023

085XX022 FUSE - 085XX022
Reliance 610266-50A FUSE - 610266-50A
Bussmann 7696K33 FUSE - 7696K33

927-860 FUSE - 927-860
Littelfuse FLSR80ID FUSE - FLSR80ID

Powerfuse JTD225ID FUSE - JTD225ID

LLSRKOID FUSE - LLSRK9ID

FR27UQ69V80T FUSE SAM83540202 BOBST

16371034 GASKET - 16371034



Qty

N N =2 =2 W =2 W oo =2 NDNDN-=2 =22 NN A 2N 2N a N s

N
-

A a N

Short Description
2664-201

49

317153
SAM83512107
R60DT80N4
153821
UR54659
UR54673
9324270
01405021-F
Nordson 276440
6308K49
C4000-060
096XX193
096XX673
Schumacher 100181
2601-015200-00
3618K412
154878

154879
5070037
5070083
SH4400WP
WPEO0616L
167412
P11236703050
3-385-001-088-00
707XX462
RT22212
SBB204
8017726
314739-134566
314739-135045
314739-135046

Long Description

2664-201 GATE (EXIT CORNER) - 2664-201
49 GEAR - 49

317153 GEAR BOX - 317153
SAM83512107 GEAR BOX - SAM83512107

R60DT80N4 GEAR MOTOR 1HP 230/460V AC 1700/40 RPM

153821 GEAR-153821

UR54659 GLUE ROLL - UR54659

UR54673 GLUE ROLL - UR54673

9324270 GROMMET - 9324270

01405021-F GUARD DOOR MAGNET - 01405021-F
Nordson 276440 GUN, CLASSICBLUE - 276440
6308K49 HANDLE - 6308K49

C4000-060 HANDLE TEE-C4000-060

096XX193 HEATER - 096XX193

096XX673 HEATER - 096xx673

Schumacher 100181 HEATER - 100181
2601-015200-00 HEATER - 2601-015200-00
3618K412 HEATER - 3618K412

154878 HOLDER - 154878

154879 HOLDER - 154879

5070037 HOSE - 5070037

5070083 HOSE - 5070083

SH4400WP HOUSING - SH4400WP

WPEO0616L HOUSING - WPEO0616L

167412 HUB-167412

P11236703050 HYDRA CYLINDER - P11236703050
3-385-001-088-00 IDDLER PIN - 3-385-001-088-00
707XX462 INSERT - 707XX462

RT22212 INSERT BEARING - RT22212

SBB204 INSERT BEARING - SBB204

8017726 INTERCONNECT - 8017726
314739-134566 INTERFACE - 314739-134566
314739-135045 INTERFACE - 314739-135045
314739-135046 INTERFACE - 314739-135046



Qty

AN AN = 2N A

N a a = N
= oA a0 NNDN

JEL G U U O S ) R (o JRNSE Nt Ny |, IR G U I U U ' BN

Short Description
SAM83960545

Allen Bradley 1747-UIC

1621664
UH00570
RK2083
9401508
SAM03554243
WCJ9127E
21270032
40T10-120V
GE 756
SL32111-5-BG
SL32111-6-BG
SL32113-5-BG
SL32115-5-BG
SL53213-4-BG
SL53215-4-BG
SMC KQL07-36S
SAM83500141
26111598
26111656
T-3-2

537845
0320.20
203-459
Martin SAM12287067
166012
101107771
PSG-MC (MALE)
C3500-039
C3500-040
314-739
00513069
00513070

Long Description

SAM83960545 INTERFACE - SAM83960545
Allen Bradley 1747-UIC INTERFACE CABLE 1747-UIC
16J21664 JOHNSON JOINT - 16J21664

UH00570 KEY | - UH00570

RK2083 KIT CART REPAIR - RK2083

9401508 KNIFE - 9401508

SAMO03554243 KNIFE - SAM03554243

WCJ9127E KNIFE - WCJ9127E

21270032 LAMP - 21270032

40T10-120V LAMP - 40T10-120V

GE 756 LAMP - 756

SL32111-5-BG LAMP - SL32111-5-BG

SL32111-6-BG LAMP - SL32111-6-BG

SL32113-5-BG LAMP - SL32113-5-BG

SL32115-5-BG LAMP - SL32115-5-BG

SL53213-4-BG LAMP - SL53213-4-BG

SL53215-4-BG LAMP - SL53215-4-BG

SMC KQLO07-36S LED - KQLO07-36S

SAM83500141 LIMIT SWITCH SAM83500141 BOBST
26111598 LINEAR BEARING - 26111598

26111656 LINEAR BEARING - 26111656

T-3-2 LINEAR BEARING - T-3-2

537845 LINING-537845

0320.20 LINK - 0320.20

203-459 LINK - 203-459

Martin SAM12287067 LOCKING GUIDE - SAM12287067 BOBST
166012 LOWER CUT HEAD - 166012

101107771 MAGNET BPS 33 SAM83500204 - 101107771
PSG-MC (MALE) MALE CAPS PSG-MC - PSG-MC (MALE)
C3500-039 MANIFOLD MULT FITTINGS-C3500-039
C3500-040 MANIFOLD MULT FITTINGS-C3500-040
314-739 MEMORY - 314-739

00513069 MODULE - 00513069

00513070 MODULE - 00513070



Qty

N = - -
O 2 A O O D O D A W A A DO W W A W A 01 O

N = = N N

Short Description
00513311
00513348
00513349
00513370
00513371
00515034
16385
16603
51445A
51500460
700569

Square D 72523
9905255
9905272
B512F-2
EEN-03145
ES3R4R4
N15298-004
RT3011
SAM83960250
Z-BV3

Schneider Electric ZBV-B5
10-501231
13-371094
13-631591
619
E-065349-02

John Deere EEN-02057
GE-310
HW192
QA-IED-3

313111
Nordson 238039

Long Description

00513311 MODULE - 00513311
00513348 MODULE - 00513348
00513349 MODULE - 00513349
00513370 MODULE - 00513370
00513371 MODULE - 00513371
00515034 MODULE - 00515034
16385 MODULE - 16385

16603 MODULE - 16603

51445A MODULE - 51445A
51500460 MODULE - 51500460
700569 MODULE - 700569

Square D 72523 MODULE - 72523
9905255 MODULE - 9905255
9905272 MODULE - 9905272
B512F-2 MODULE - B512F-2
EEN-03145 MODULE - EEN-03145
ES3R4R4 MODULE - ES3R4R4
N15298-004 MODULE - N15298-004
RT3011 MODULE - RT3011

SAM83960250 MODULE - SAM83960250 BOBST

Z-BV3 MODULE - Z-BV3
Schneider Electric ZBV-B5 MODULE - ZBV-B5
10-501231 MOTOR - 10-501231
13-371094 MOTOR - 13-371094
13-631591 MOTOR - 13-631591
619 MOTOR - 619
E-065349-02 MOTOR - E-065349-02
John Deere EEN-02057 MOTOR - EEN-02057
GE-310 MOTOR - GE-310
HW192 MOTOR - HW192
QA-IED-3 MOTOR - QA-IED-3
MOTOR GEAR BOX-0220-84044
313111 MOTOR-313111
Nordson 238039 NOZZEL - 238039



Qty Short Description
362001-A - NZ6-2.250130000-014

Long Description
362001-A - NZ6-2.250130000-014 NOZZEL - 362001-A - NZ6-2.250130000-014

707XX883 707XX883 NOZZEL - 707XX883
A804-832 A804-832 NOZZEL - A804-832

15 B-3424-D B-3424-D NR BEARING - B-3424-D

11 B-87 B-87 NR BEARING - B-87
BH-1616 BH-1616 NR BEARING - BH-1616
BSA1113116000 BSA1113116000 NR BEARING - BSA1113116000
HN50B17 HN50B17 NR BEARING - HN50B17
HN80B13 HN80B13 NR BEARING - HN80B13

IR-1216 IR-1216 NR BEARING - IR-1216

McGill MR-22 McGill MR-22 NR BEARING - MR-22
NATV17-PP-A NATV17-PP-ANR BEARING - NATV17-PP-A
NCS2420 NCS2420 NR BEARING - NCS2420

SJ-7315 SJ-7315 NR BEARING - SJ-7315
Nordson 152926 Nordson 152926 NUT - 152926

793XX737 793XX737 NUT - 793XX737
868-MAREN 868-MAREN NUT - 868-MAREN
911-MAREN 911-MAREN NUT - 911-MAREN
D12-1543 D12-1543 NUT - D12-1543

N-30 N-30 NUT - N-30

UWA90125 UWA90125 NUT - UWA90125
WFF400IN WFF400IN NUT - WFF400IN
150026 150026 NUT-150026

Parker 745XX122 Parker 745XX122 O-RING 745XX122 VALCO
OFFSET RS12B-6027K8
OFFSET RS18B-1222N983
100061967 100061967 OIL SEAL - 100061967
10012513ADL 10012513ADL OIL SEAL - 10012513ADL

101547 101547 OIL SEAL - 101547

10249108 10249108 OIL SEAL - 10249108
14017014-F 14017014-F OIL SEAL - 14017014-F
21158-0595 21158-0595 OIL SEAL - 21158-0595
38X60X10VTC 38X60X10VTC OIL SEAL - 38X60X10VTC

= N =2 N =2 N W NN oo OO DNDNDNDDNDPRERONOaOODNDDNDNDNDDNDDNDDN-_2O0O a NN -

John Deere 400571 John Deere 400571 OIL SEAL - 400571



Qty

B O NN 4 a4 a apf aNN-a2O NN 2w BMDMDAMAOMNMNOON D

a A a N
w © w o

Short Description
40X62X7MM
45X68X12ADL

473234

4991885

602474

65X100X10SC
70X100X10MM
75X100X13ADL

90 120 13ADL

AD2967 E - TB 52X75X12
CR10663

SKF CR21764

SKF CR45550
CR45X68X10
SB10012513C VTN
SB11514514-F
SB22025516 / AB5207EQ
TB16019015V
VCY23026012

75X100X10MM

FANUC IC655ALG566B
120-G - 152-0974
TRD855XCR-1
24AWG-4PR

GE Fanuc VMIVME-7750

Allen Bradley 42RLU-4000B
800T-QST24

107039-KIT

115632

221208

2530200601

2990016

Long Description
40X62X7MM OIL SEAL - 40X62X7MM
45X68X12ADL OIL SEAL - 45X68X12ADL
473234 OIL SEAL - 473234
4991885 OIL SEAL - 4991885
602474 OIL SEAL - 602474
65X100X10SC OIL SEAL - 65X100X10SC
70X100X10MM OIL SEAL - 70X100X10MM
75X100X13ADL OIL SEAL - 75X100X13ADL
90 120 13ADL OIL SEAL - 90 120 13ADL
AD2967 E - TB 52X75X12 OIL SEAL - AD2967 E - TB 52X75X12
CR10663 OIL SEAL - CR10663
SKF CR21764 OIL SEAL - CR21764
SKF CR45550 OIL SEAL - CR45550
CR45X68X10 OIL SEAL - CR45X68X10
SB10012513C VTN OIL SEAL - SB10012513C VTN
SB11514514-F OIL SEAL - SB11514514-F
SB22025516 / AB5207EO0 OIL SEAL - SB22025516 / AB5207E0Q
TB16019015V OIL SEAL - TB16019015V MITSUBISH
VCY23026012 OIL SEAL SPECIAL GR23026015FPM HEIDELBER
OIL SEAL-471344
75X100X10MM OIL SEAL-75X100X10MM
FANUC IC655ALG566B OUTPUT MODULE-IC655ALG566B
120-G - 152-0974 PANEL - 120-G - 152-0974
TRD855XCR-1 PATCH CABLE - TRD855XCR-1
24AWG-4PR PATCH CORD E87647 / 2835 - 24AWG-4PR
GE Fanuc VMIVME-7750 PCB - VMIVME-7750
PHOTO EYE CABLE-XSEF-M422
Allen Bradley 42RLU-4000B PHOTO SWITCH 102-132VAC 2A
800T-QST24 PILOT LIGHT - 800T-QST24
107039-KIT PIN - 107039-KIT
115632 PIN - 115632
221208 PIN - 221208
2530200601 PIN - 2530200601
2990016 PIN - 2990016



Qty

-
N O =2 2N 2NN 22NN 2NN NNDNDDNDNDNNOOOOOODNNDN 2 O0ON D

81

A a2 2NN

Short Description
Aerofast Inc 98320A280

ELO014705
MC242DD
PAO-B5483A

SAM03292635L

SAM03774143
SAM75890680
SAM75891080
UMA3782
UR46755
SAM03774144
450581
51/21D
126529
2750194001
513137
9626026
A12437A
SFP-35300
SWP-150250
UMA2772
UR40519
UR42387
UR56182
WFF6177G
MQUUR52897
792XX064
CRO.750
ICC-11
SAM77300003
707XX482
PM15NAMUR

78ESB-502-W05217

180-1097-01

Long Description

Aerofast Inc 98320A280 PIN - 98320A280
EL014705 PIN - EL014705

MC242DD PIN - MC242DD

PA0-B5483A PIN - PA0-B5483A
SAM03292635L PIN - SAM03292635L
SAMO03774143 PIN - SAM03774143
SAM75890680 PIN - SAM75890680
SAM75891080 PIN - SAM75891080

UMA3782 PIN - UMA3782

UR46755 PIN - UR46755

SAMO03774144 PISTON - SAM03774144
450581 PLASTIC BLOCK - 450581

51/2 ID PLASTIC SLEEVE 5-1/2"ID -5 1/2" Id
126529 PLATE - 126529

2750194001 PLATE - 2750194001

513137 PLATE - 513137

9626026 PLATE - 9626026

A12437A PLATE - A12437A

SFP-35300 PLATE - SFP-35300

SWP-150250 PLATE - SWP-150250

UMA2772 PLATE - UMA2772

UR40519 PLATE - UR40519

UR42387 PLATE - UR42387

UR56182 PLATE - UR56182

WFF6177G PLATE - WFF6177G
MQUUR52897 PLATE SHIM GLUE ROLL STOP - UR52897
792XX064 PLUG - 792XX064

CRO.750 PLUG - CRO.750

ICC-11 PLUG - ICC-11

SAM77300003 PLUG - SAM77300003
707XX482 PLUNGER ASSEMBLY - 707XX482
PM15NAMUR PM15 PNEUMATIC POSITIONER - PM15NAMUR
78ESB-502-W05217 POTENTIOMETER - 78ESB-502-W05217
180-1097-01 POWER CORD - 180-1097-01



Qty Short Description Long Description

2 45306T/2 45306T/2 POWER OPTO TERMINAL 24V - 45306T/2
2 025511 025511 POWER SUPPLY - 025511

2 24503-005 24503-005 POWER SUPPLY - 24503-005

1 42310-01 42310-01 POWER SUPPLY - 42310-01

1 51500416 51500416 POWER SUPPLY - 51500416

1 7901 7901 POWER SUPPLY - 7901

1 9908165 9908165 POWER SUPPLY - 9908165

1 HE-9729 HE-9729 POWER SUPPLY - HE-9729

1 NK1730 NK1730 POWER SUPPLY - NK1730

3 PRESS FITTING 3/8"-1/4" 5779K116

1 SAM03894001 SAM03894001 PULL ROLL - SAM03894001

2 Gates 3156004 Gates 3156004 PULLEY - 3156004

1 SAM0444P03106 SAM0444P03106 PULLEY - SAM0444P03106

1 BSA0197700500 BSA0197700500 PULLEY BSA0197700500 BOBST
2 19517631 19517631 PUMP & COMP - 19517631

2 93581601 93581601 PUMP & COMP - 93581601

1 99-11-30 99-11-30 PUMP & COMP - 99-11-30

1 Little Giant MOD VCM-20ULS Little Giant MOD VCM-20ULS PUMP & COMP - MOD VCM-20ULS
4 BV60030200 BV60030200 PUSH BAR - BV60030200

3 32012 32012 PUSH BUTTON - 32012

4 MV-EHB MV-EHB PUSH BUTTON - MV-EHB

2 RATCHET HANDLE 3/4-81612

1 27000023 27000023 RATCHET LOCK CPL. FOR D-400 - 27000023
1 150042 150042 REGULATOR - 150042

2 19517619 19517619 REGULATOR - 19517619

1 UWAG5849 UWAG65849 REGULATOR - UWA65849

1 12040-4 12040-4 RELAY - 12040-4

1 28610E6 28610E6 RELAY - 28610E6

1 32120764 32120764 RELAY - 32120764

1 3RH11 312AF00 3RH11 312AF00 RELAY - 3RH11 312AF00

1 51375 51375 RELAY - 51375

1 53-151 53-151 RELAY - 53-151

4 Dayton 57494 Dayton 57494 RELAY - 52494

1 700-HTF12F11A1 700-HTF12F11A1 RELAY - 700-HTF12F11A1



Qty

N
® 0O N O N ~NON =2 & DN a a b WwWN 2N

DN =2 NN O© =~ N O© =~ NDNDN=2DNDDd

Short Description
719024-ELR-0702
AP39432 - HC2-P-DC24V-H38
CPF11

LRD21

N15

RTB-S01
CAD323BD
XPSAT3410
34750109P
03754796

00375

0103372080
103372072
103372090

Rexroth 1671-313-10
SKF 1924S-BRZ
20321036

20322063
208KRR2Z
209WDDN / 6209-2Z
23124EX1S28W33 S28 C5
2530200701
27003500

27005231

3230021

3291400
Timken 484-90263
4A

6030

McMaster Carr 6709K12
69012736

783XX042

82050006

Long Description
719024-ELR-0702 RELAY - 719024-ELR-0702

AP39432 - HC2-P-DC24V-H38 RELAY - AP39432 - HC2-P-DC24V-H38

CPF11 RELAY - CPF11

LRD21 RELAY - LRD21

N15 RELAY - N15

RTB-S01 RELAY - RTB-S01

CAD323BD RELAY - SAM83213101
XPSAT3410 RELAY - SAM83650522
34750109P REPAIR KIT - 34750109P
03754796 REPL BATT CARTRIDGE #35 - 03754796

RETRACTING CORD-7520K11

00375 RING - 00375

0103372080 RING - 0103372080
103372072 RING - 103372072
103372090 RING - 103372090
Rexroth 1671-313-10 RING - 1671-313-10
SKF 1924S-BRZ RING - 1924S-BRZ
20321036 RING - 20321036

20322063 RING - 20322063

208KRR2Z RING - 208KRR2Z
209WDDN / 6209-2Z RING - 209WDDN / 6209-2Z
23124EX1S28W33 S28 C5 RING - 23124EX1S28W33 S28 C5
2530200701 RING - 2530200701
27003500 RING - 27003500

27005231 RING - 27005231

3230021 RING - 3230021

3291400 RING - 3291400
Timken 484-90263 RING - 484-90263
4ARING - 4A

6030 RING - 6030
McMaster Carr 6709K12 RING - 6709K12
69012736 RING - 69012736

783XX042 RING - 783XX042

82050006 RING - 82050006



Qty

10

106

= N =2 W W s OO W DA OO WODN-2 WA -_2DNODN-_2A BN -=2 DN BN

Short Description
88510

92010504
92050502
92054301
92214001

McMaster-Carr 9416K16

9879672
A940-111
A940-134
AFEBOTA020GJ060
BVv600283

D-13

DH45
DIN471-072
E-5210

PX05

R18

S8K
SAM81550044
IKO SB-35A
SBPP-205-16KG5
SC-31

SER210
SER210-30
SR-1616

ST-35

TB-19T
Allied Brass TB-20
Sealmaster TB-31
TW4-430027
TWN-10-OPN
TWN-12-OPN
UCC207-23
UMA1031

Long Description

88510 RING - 88510

92010504 RING - 92010504
92050502 RING - 92050502
92054301 RING - 92054301
92214001 RING - 92214001
McMaster-Carr 9416K16 RING - 9416K16
9879672 RING - 9879672

A940-111 RING - A940-111

A940-134 RING - A940-134
AFEBOTA020GJ060 RING - AFEBOTA020GJ060
BV600283 RING - BV600283

D-13 RING - D-13

DH45 RING - DH45

DIN471-072 RING - DIN471-072
E-5210 RING - E-5210

PX05 RING - PX05

R18 RING - R18

S8K RING - S8K

SAM81550044 RING - SAM81550044
IKO SB-35A RING - SB-35A
SBPP-205-16KG5 RING - SBPP-205-16KG5
SC-31 RING - SC-31

SER210 RING - SER210

SER210-30 RING - SER210-30
SR-1616 RING - SR-1616

ST-35 RING - ST-35

TB-19T RING - TB-19T
Allied Brass TB-20 RING - TB-20
Sealmaster TB-31 RING - TB-31
TW4-430027 RING - TW4-430027
TWN-10-OPN RING - TWN-10-OPN
TWN-12-OPN RING - TWN-12-OPN
UCC207-23 RING - UCC207-23
UMA1031 RING - UMA1031



Qty

-

Short Description
UMA1032
UMA2919
UR42280
UR53633
UWAOQ355
UWA06054
UWA85198
UWA85908
UWA86318
YW220 2-7/16
Z080501001
NSTU-SC-HOUSE
SAM8105P00202
UR60037

05079

096318

100BS15 1-15/16
228B0014-04
70152100

87510

9429239
B107060

Martin SAM12287068

RS12B-10L
593XX048
MQUUR54681
2022541

221172

393771

Sealmaster 701063
ShoreMaster 701066
ShoreMaster 701068
784XX299

9113630

Long Description

UMA1032 RING - UMA1032

UMA2919 RING - UMA2919

UR42280 RING - UR42280

UR53633 RING - UR53633

UWAO0355 RING - UWAO0355

UWAO06054 RING - UWA06054

UWAB85198 RING - UWA85198

UWA85908 RING - UWA85908

UWA86318 RING - UWA86318

YW220 2-7/16 RING - YW220 2-7/16
2080501001 RING - 2080501001
NSTU-SC-HOUSE RING-NSTU-SC-HOUSE
SAM8105P00202 ROD CLEVIS - SAM8105P00202 BOBST
UR60037 ROD END - UR60037

05079 ROLL - 05079

096318 ROLL - 096318

100BS15 1-15/16 ROLL - 100BS15 1-15/16
228B0014-04 ROLL - 228B0014-04
70152100 ROLL - 70152100

87510 ROLL - 87510

9429239 ROLL - 9429239

B107060 ROLL - B107060

Martin SAM12287068 ROLL - SAM12287068 BOBST
RS12B-10L ROLLER CHAIN - RS12B-10L
593XX048 RUBBER DIAPHRAM - 593XX048
MQUUR54681 SAFETY STOP BLOCK - UR54681
2022541 SCREW - 2022541

221172 SCREW - 221172

393771 SCREW - 393771

Sealmaster 701063 SCREW - 701063
ShoreMaster 701066 SCREW - 701066
ShoreMaster 701068 SCREW - 701068
784XX299 SCREW - 784xx299

9113630 SCREW - 9113630



Qty

85
57

Short Description
BSA0104407400
Sealmaster MP-39
SAM76330616
SAM76330660
SAM76371230

UCP206-20
00374

8 6.2-N

~N O
N O

N N = 0 N O =2 N WN -=2DN-_2 22 a2 DNDNDNWODNhNDo -2 DN -

SAM0355P01551
SAM0355P01552
SAM0444P04269
TH-469
UMB7007

G1000
RG2HLTS200
SKA500

063272

38661

71509

96313123
BA-32T

Balluff BTL6-A-3800-2

KLQ1-Z

IFM MK5159
T1571900
101381
126694-101403
161896

37D
BV6-000300
BV60029900
SAM0415P04037
SHAFT

Long Description

BSA0104407400 SCREW - BSA0104407400
Sealmaster MP-39 SCREW - MP-39
SAM76330616 SCREW - SAM76330616
SAM76330660 SCREW - SAM76330660
SAM76371230 SCREW - SAM76371230
UCP206-20 SCREW - UCP206-20

00374 SEAL - 00374

6.2-N SEAL - 6.2-N

SAM0355P01551 SEAL - SAM0355P01551
SAMO0355P01552 SEAL - SAM0355P01552
SAM0444P04269 SEAL - SAM0444P04269
TH-469 SEAL - TH-469

UMB7007 SEAL - UMB7007

G1000 SEAL KIT - G1000

RG2HLTS200 SEAL KIT - RG2HLTS200
SKA500 SEAL KIT - SKA500

063272 SENSOR - 063272

38661 SENSOR - 38661

71509 SENSOR - 71509

96313123 SENSOR - 96313123

BA-32T SENSOR - BA-32T

Balluff BTL6-A-3800-2 SENSOR - BTL6-A-3800-2

KLQ1-Z SENSOR - KLQ1-Z
IFM MK5159 SENSOR - MK5159
T1571900 SENSOR-T1571900

101381 SHAFT - 101381

126694-101403 SHAFT - 126694-101403
161896 SHAFT - 161896

37D SHAFT - 37D

BV6-000300 SHAFT - BV6-000300
BV60029900 SHAFT - BV60029900
SAM0415P04037 SHAFT - SAM0415P04037
SHAFT SHAFT - SHAFT

SHAFT - SO-2



Qty

A DA A

N
w

-
DN NN =2 =2 010000 2 2 2 b 01 2 N W =2 N 0N

N = ~ o =
W W NN =2 W o N

Short Description

UMA3089
UMA3089
UR52996
UR52899
SAM04445893
WFG3322
UR52895
67DP1290801
A09087
EFA2050FC

XVB-L33

127393-10906
E-065022-02
166005
21173522
55831103
55841101
G3843-UC
SAMO03730699L
UMA4585
UMA4737
GEG40ES-2RS
44
9995610416
NT-3077
SAMB81550096
014879
SAM81550109

25B16 3/8
4012 28MM

Long Description

UMA3089 SHAFT - UMA3089

UMA3089 SHAFT - UMA3089

UR52996 SHAFT - UR52996

UR52899 SHIM SAFETY STOP R52899 MARQUIP
SAMO04445893 SHIM - SAM04445893

WFG3322 SHIM - WFG3322

UR52895 SHIM GLUE ROLL STOP R52895 MARQUIP

67DP1290801 SHOCK ABSORBER - 67DP1290801
A09087 SHOCK ABSORBER - A09087
EFA2050FC SHOCK ABSORBER - EFA2050FC
SHOULDER BOLTS 5/16-91259A617
XVB-L33 SIGNAL LIGHT - XVB-L33
SLEEVE BUSHING 1 1/2 ID -2868T243
SNUBBING WHEELS MOTOR BRUSH -F83
127393-10906 SOCKET - 127393-10906
E-065022-02 SOFT STOP - E-065022-02
166005 SPACER - 166005
21173522 SPACER - 21173522
55831103 SPACER - 55831103
55841101 SPACER - 55841101
(G3843-UC SPACER - G3843-UC
SAM03730699L SPACER - SAM03730699L
UMA4585 SPACER - UMA4585
UMA4737 SPACER - UMA4737
GEG40ES-2RS SPH R BEARING - GEG40ES-2RS
44 SPOOL FOR 1" INK ASSY - 44
9995610416 SPRING - 9995610416
NT-3077 SPRING - NT-3077
SAM81550096 SPRING - SAM81550096
014879 SPRING CONICAL - 014879
SAM81550109 SPRING RED - SAM81550109
SPRING-7600-026
25B16 3/8 SPROCKET - 25B16 3/8
4012 28MM SPROCKET - 4012 28MM



Qty

—
N = O =2 W a AN W =2 BADNMNDNO-_22 2 WON NN W -2 WONWOoOOODNODN AW -~

N
w

Short Description
40B32-5/8

Martin 40BS13 7/8
40BS21-1-1/4
5018TBF
50A19-2-11/16
50BS16-1-5/8
52641243
56231239
6024H-1
60B15-1-1/4
60B17-1-3/4

Martin 60BS16-1-7/16
Martin 60BTB15-1610

60BTB27-2012
60SDS21
60TTA18-35
60TTA25-50
697950160252
9521320
D50B15H 1-1/8
D50B20
D50B20H-1-1/2
Martin D50B23H
DS60ATB18H
E40B22H
F14M-36S-20-SF
H5024-1-7/16
H50H17
PM6013HE137
WFG207250T
R44301

05746

9390971
3220041

Long Description

40B32-5/8 SPROCKET - 40B32-5/8

Martin 40BS13 7/8 SPROCKET - 40BS13 7/8
40BS21-1-1/4 SPROCKET - 40BS21-1-1/4
5018TBF SPROCKET - 5018TBF
50A19-2-11/16 SPROCKET - 50A19-2-11/16
50BS16-1-5/8 SPROCKET - 50BS16-1-5/8
52641243 SPROCKET - 52641243

56231239 SPROCKET - 56231239

6024H-1 SPROCKET - 6024H-1

60B15-1-1/4 SPROCKET - 60B15-1-1/4
60B17-1-3/4 SPROCKET - 60B17-1-3/4
Martin 60BS16-1-7/16 SPROCKET - 60BS16-1-7/16
Martin 60BTB15-1610 SPROCKET - 60BTB15-1610
60BTB27-2012 SPROCKET - 60BTB27-2012
60SDS21 SPROCKET - 60SDS21
60TTA18-35 SPROCKET - 60TTA18-35
60TTA25-50 SPROCKET - 60TTA25-50
697950160252 SPROCKET - 697950160252
9521320 SPROCKET - 9521320

D50B15H 1-1/8 SPROCKET - D50B15H 1-1/8
D50B20 SPROCKET - D50B20
D50B20H-1-1/2 SPROCKET - D50B20H-1-1/2
Martin D50B23H SPROCKET - D50B23H
DS60ATB18H SPROCKET - DS60ATB18H
E40B22H SPROCKET - E40B22H
F14M-36S-20-SF SPROCKET - F14M-36S-20-SF
H5024-1-7/16 SPROCKET - H5024-1-7/16
H50H17 SPROCKET - H50H17
PM6013HE137 SPROCKET - PM6013HE137
WFG207250T SPROCKET - WFG207250T
R44301 SPUR GEAR - R44301

05746 SPUR GEAR-05746

9390971 SQUARE.25X2.12 - 9390971
3220041 STACKER WHEEL - 3220041



Qty

A A N R AW R AN AU, A A a2 2 DN DNNDNO CNWAEO NN,

Short Description
D501029
UR46813
SAMO04604501
SAM81650054
SAM85150039
150290
27005240
27005250
1110CV
111QAV
2750013101
768XX691
SAMO04454093
UR47294
URS58934A
199045
47040931
6KL72

Allen Bradley 800FM-KM2127R

Allen Bradley 800T-H3114A
800T-J4404A
802M-DJ1NF
9001KS11K1E28
9007 AW16-9617
9209K571

Turck BI15-CP40VN4X2
CR115E1E1102
E11978
E3N-R5E11
MP511
SH-MCH100
TWSTB
UMA2948
Z-16737

Long Description

D501029 STEAM TRAP - D501029

UR46813 STOP JAC - UR46813

SAM04604501 STOP SAM04604501 - SAM04604501
SAM81650054 STOP SAM81650054 - SAM81650054
SAM85150039 STRAINER - SAM85150039

150290 STRIPPER-150290

27005240 STROKE ADJUSTMENT - 27005240
27005250 STROKE ADJUSTMENT - 27005250
1110CV SUPPORT - 1110CV

111QAV SUPPORT - 111QAV

2750013101 SUPPORT - 2750013101

768XX691 SUPPORT - 768XX691

SAM04454093 SUPPORT - SAM04454093
UR47294 SUPPORT - UR47294

UR58934A SUPPORT - UR58934A

199045 SWITCH - 199045

47040931 SWITCH - 47040931

6KL72 SWITCH - 6KL72
Allen Bradley 800FM-KM2127R SWITCH - 800FM-KM2127R
Allen Bradley 800T-H3114A SWITCH - 800T-H3114A
800T-J4404A SWITCH - 800T-J4404A

802M-DJ1NF SWITCH - 802M-DJ1NF
9001KS11K1E28 SWITCH - 9001KS11K1E28

9007 AW16-9617 SWITCH - 9007 AW16-9617
9209K571 SWITCH - 9209K571

Turck BI15-CP40VN4X2 SWITCH - BI15-CP40VN4X2
CR115E1E1102 SWITCH - CR115E1E1102

E11978 SWITCH - E11978

E3N-R5E11 SWITCH - E3N-R5E11

MP511 SWITCH - MP511

SH-MCH100 SWITCH - SH-MCH100

TWSTB SWITCH - TWSTB

UMA2948 SWITCH - UMA2948

Z-16737 SWITCH - Z-16737



Qty

2SN 2 W, WN DR AN D Bl AN O A A AN O Ee e, DN

Short Description
Z-17265
Z-24808

10BTB21H
KSE Manufacturing 50BTL21H
50BTL22

KSE Manufacturing 60BTL40-2012

H40BTL17
CU0036008
9612050
2901-010400-13

LX-PA-50

PK-0201

85063
1151DP7552B2DF
843DP-C111NK-M / 97100146
144913.002

9316553

4050014

Dayton 62948

Valco Melton 702XX224
707XX431

707XX526

707XX564

Moniteur KIT-SW-0120P
PYHG7AUSO054A
UWAB82496

7600-029

24834SC

313780

64-1073-60
VPGL-1HR

Long Description

Z-17265 SWITCH - Z-17265

Z-24808 SWITCH - Z-24808

SWITCH ELECTRIC ACTUATOR XCSZ02

10BTB21H TAPE - 10BTB21H
KSE Manufacturing 50BTL21H TAPE - 50BTL21H
50BTL22 TAPE - 50BTL22
KSE Manufacturing 60BTL40-2012 TAPE - 60BTL40-2012
H40BTL17 TAPE - H40BTL17

CU0036008 TAPER R BEARING - CU0036008

9612050 TOOLING HUB DRIVE INSERT 9612050 MARQUIP
2901-010400-13 TOP STRAP GUIDE 5MM

TORQUE LIMITER-T45L X 1 1/4

LX-PA-50 TRANSDUCER - LX-PA-50

PK-0201 TRANSDUCER - PK-0201

85063 TRANSFORMER 100-240VAC TO 24VDC 480W 20A
1151DP7552B2DF TRANSMITTER - 1151DP7552B2DF
843DP-C111NK-M / 97100146 TRANSMITTER - 843DP-C111NK-M / 97100146
144913.002 V-DROP LUG ASSY - 144913.002

9316553 V-WHEEL - 9316553

4050014 VALVE - 4050014
Dayton 62948 VALVE - 62948
Valco Melton 702XX224 VALVE - 702XX224

707XX431 VALVE - 707XX431

707XX526 VALVE - 707XX526

707XX564 VALVE - 707XX564
Moniteur KIT-SW-0120P VALVE - KIT-SW-0120P
PYHG7AUS054A VALVE - PYHG7AUS054A

UWAB82496 VALVE - UWA82496

7600-029 VALVE SHUTOFF BALL VALVE-7600-029
24834SC VALVE-24834SC

313780 VALVE-313780

VALVE-375-02-33-1 12/15

64-1073-60 VANE KIT - 64-1073-60

VPGL-1HR VAPORTIGHT GLASS COVER - VPGL-1HR



Qty

30

88

W N =2 NN

Short Description
H-015100-00
161899
211170-007
312546
SAM76100006
UWA82815
142286
9305931
1278
XE-1201

Long Description

H-015100-00 VELOCITY FUSE-28001-504-1/2-14NPTF
161899 WASHER - 161899

211170-007 WASHER - 211170-007

312546 WASHER - 312546

SAM76100006 WASHER - SAM76100006
UWAB82815 WASHER - UWA82815

142286 WASHER-142286

9305931 WHEEL STACKER GUIDE - 9305931
1278 WHEELS / EASY MOVER - 1278

XE-1201 XE-1201 ARC SUPPRESSOR - XE-1201



